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POLYNOMIALS

1. Look at the graph in the figures given below.

Each is the graph of y = p(x), where p(x) is a


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_77EMoWxrSdU3

polynomial. In each of the graphs, find the

number of zeroes of p(x) in the given range of

o Watch Video Solution

2. Find the number of zeroes of the given

polyminals. And also find their values.

(i)p(x) =2z + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_77EMoWxrSdU3
https://dl.doubtnut.com/l/_B8l1steduClS

3. Find the number of zeroes of the given

polyminals. And also find their values.

(i) q(y) = y° — 1

o Watch Video Solution

4. Find the number of zeroes of the given

polyminals. And also find their values.

(i) r(2) = 2°

o Watch Video Solution



https://dl.doubtnut.com/l/_batU7bCIv1GO
https://dl.doubtnut.com/l/_Gxt1wNPinAFu
https://dl.doubtnut.com/l/_eQiqnwDsvHwC

5.Find the zeroes of the quadratic polynomial
x? + 7x + 10, and verify the relationship

between the zeroes and the coefficients.

o Watch Video Solution

6. Find the zeroes of the polynomial z? — 3
and verify the relationship between the zeroes

and the coefficients.

o Watch Video Solution



https://dl.doubtnut.com/l/_eQiqnwDsvHwC
https://dl.doubtnut.com/l/_WOETOw8PcLfy
https://dl.doubtnut.com/l/_EaJHRxkC7w94

7. Find a quadratic polynomial, the sum and
product of whose zeroes are -3 and 2

respectively.

o Watch Video Solution

8. Find a quadratic polynomial if the zeroes of

it are 2 and S respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_EaJHRxkC7w94
https://dl.doubtnut.com/l/_d0JfKexCtFl0

1
9. Verify that 3, — 1, — 3 are the zeroes of
the cubic polynomial
p(z) = 3z® — 5z® — 11z — 3, and then verify

the relationship between the zeroes and the

coefficients.

o Watch Video Solution

10. Divide 222 + 3z + lbyz + 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_6N36whPKqSoY
https://dl.doubtnut.com/l/_JAO5bkIvPIUT
https://dl.doubtnut.com/l/_vIuNCr7XSU6D

11. Divide 3z° + 2% 4+ 2z + 5 by 1 + 2z + z°.

o Watch Video Solution

12. Divide 3z® + 2® — 3z +5 by 2 — 1 — 22,

and verify the division algorithm.

o Watch Video Solution

13. Find all the zeroes of

2z* — 3x° — 32% + 6z — 2, if you know that


https://dl.doubtnut.com/l/_vIuNCr7XSU6D
https://dl.doubtnut.com/l/_ICvENlL98Pet
https://dl.doubtnut.com/l/_ZAgrSfqANDd4

two of its zeroes are /2 and — /2.

o Watch Video Solution

1. State which of the following are polynomial

and which are not ? Give resons.

(i) 23

o Watch Video Solution



https://dl.doubtnut.com/l/_ZAgrSfqANDd4
https://dl.doubtnut.com/l/_6M7D7kJTwJ6B

2. State which of the following are polynomial

and which are not ? Give resons.

1
r—1

(i)

o Watch Video Solution

3. State which of the following are polynomial
and which are not ? Give resons.

1
i 4 2 -
(iii) 4z° + -

o Watch Video Solution



https://dl.doubtnut.com/l/_WLZmAEABfLJO
https://dl.doubtnut.com/l/_wpTKhwHApVOT
https://dl.doubtnut.com/l/_FIij52XVolKw

4. State which of the following are polynomial

and which are not ? Give resons.

(iv) m? — \/im + 2

o Watch Video Solution

5. State which of the following are polynomial
and which are not ? Give resons.

Mp 241

o Watch Video Solution



https://dl.doubtnut.com/l/_FIij52XVolKw
https://dl.doubtnut.com/l/_57ca4TUp8367
https://dl.doubtnut.com/l/_NpF16GMkVPUh

6.p(z) = 2> — 5z — 6, find the value of p(1)

o Watch Video Solution

7.p(z) = 2 — 5z — 6, find the value of p(2)

o Watch Video Solution

8.p(z) = z* — 5z — 6, find the value of p(3).

o Watch Video Solution



https://dl.doubtnut.com/l/_NpF16GMkVPUh
https://dl.doubtnut.com/l/_SrN4DgGBN9jW
https://dl.doubtnut.com/l/_kbyewah7RmLA
https://dl.doubtnut.com/l/_nx1lydXOCCC8

9.p(z) = z* — 5z — 6, find the value of p(0).

o Watch Video Solution

10. p(z) = z* — 5z — 6, find the value of

p(—1).

o Watch Video Solution

M. p(z) = z* — 5z — 6, find the value of

p( — 2).

o Watch Video Solution



https://dl.doubtnut.com/l/_nx1lydXOCCC8
https://dl.doubtnut.com/l/_Wh7PhuiL9k1q
https://dl.doubtnut.com/l/_0j2XW57kGQkQ

12. p(z) = 2> — 5z — 6, find the value of

p( — 3).

o Watch Video Solution

13. p(m) = m® — 3m + 1, find the value of

p(1).

o Watch Video Solution



https://dl.doubtnut.com/l/_0j2XW57kGQkQ
https://dl.doubtnut.com/l/_49M51ao9W7qV
https://dl.doubtnut.com/l/_GrtT83Nmb0Yy

14. p(m) = m®> — 3m + 1, find the value of

p(-1).

o Watch Video Solution

15. Let p(z) = = — 4z + 3. Find the value of

p(0) and obtain zeroes of the polynomial p(x).

o Watch Video Solution



https://dl.doubtnut.com/l/_h6UvMKHmFAj0
https://dl.doubtnut.com/l/_fyRu7Rdy05W0

16. Let p(x) = x* — 4z + 3. Find the value of

p(1) and obtain zeroes of the polynomial p(x).

° Watch Video Solution

17. Let p(z) = = — 4z + 3. Find the value of

p(2) and obtain zeroes of the polynomial p(x).

o Watch Video Solution



https://dl.doubtnut.com/l/_fgA39mB4lphG
https://dl.doubtnut.com/l/_XBxwSkbj9bbL

18. Let p(x) = 2* — 4z + 3. Find the value of

p(3) and obtain zeroes of the polynomial p(x).

o Watch Video Solution

19. Check wheather -3 and 3 are the zeroes of

the polynomial z? — 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_yGNbaJ3AA0O2
https://dl.doubtnut.com/l/_xiug0m1atZSi

20. Find the zeroes of the quadratic polyno-
mials given below. Find the sum and product
of the zeroes and verify relationship to the
coefficients of terms in the polynomials.

(i) p(z) = z° — z — 6.

o Watch Video Solution

21. Find the zeroes of the quadratic polyno-
mials given below. Find the sum and product

of the zeroes and verify relationship to the


https://dl.doubtnut.com/l/_EdLX8pYEDo2G
https://dl.doubtnut.com/l/_03G33zULEXBl

coefficients of terms in the polynomials.

(i) p(z) = z* — 4z + 3.

° Watch Video Solution

22. Find the zeroes of the quadratic polyno-
mials given below. Find the sum and product
of the zeroes and verify relationship to the

coefficients of terms in the polynomials.

(iii) p(z) = z* — 4

° Watch Video Solution



https://dl.doubtnut.com/l/_03G33zULEXBl
https://dl.doubtnut.com/l/_ThpknrazXHbc
https://dl.doubtnut.com/l/_ScKUdJF35d4H

23. Find the zeroes of the quadratic polyno-
mials given below. Find the sum and product
of the zeroes and verify relationship to the
coefficients of terms in the polynomials.

(iv) p(z) = z* + 2z + 1.

° Watch Video Solution

24. If o, B, v are the zeroes of the given cubic

polynomials, find the values as given in the


https://dl.doubtnut.com/l/_ScKUdJF35d4H
https://dl.doubtnut.com/l/_y7H27Z7iw6nY

table.

S$.No.| Cubic polynomial « + B + 1/ aB + By + ya| aBy
x>+ 3xr-x-2 | '

4x> + 8x? - 6x -2 '

x>+ 4x2 -5x-2

ool el Bl B

% +5x2 + 4

o Watch Video Solution

1. Draw the graph of (i) y=2x+5 and find the

point of intersection on X - axis. Is the x-


https://dl.doubtnut.com/l/_y7H27Z7iw6nY
https://dl.doubtnut.com/l/_ZQnDfHSvhrTT

coordinates of these points also the zero of

the polynomial?

° Watch Video Solution

2. Draw the graph of (ii) y = 2x - 5 and find the
point of intersection on X - axis. Is the x-
coordinates of these points also the zero of

the polynomial?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZQnDfHSvhrTT
https://dl.doubtnut.com/l/_5ln6Xy3lDuiB

3. Draw the graph of (iii) y = 2x and find the
point of intersection on X - axis. Is the x-
coordinates of these points also the zero of

the polynomial?

° Watch Video Solution

1. Write 3 different quadratic, cubic and 2

linear polynomials with different number of


https://dl.doubtnut.com/l/_lZ57znZp8Zsf
https://dl.doubtnut.com/l/_EEaHRl9meztS

terms.

o Watch Video Solution

2. Write a quadratic polynomial and a cubic

polynomial in variable x in the general form.

° Watch Video Solution

3. Write a general polynomial q(z) of degree n
with coefficients that are by.... b,,. What are

the conditionson b (0)...... b,?


https://dl.doubtnut.com/l/_EEaHRl9meztS
https://dl.doubtnut.com/l/_Je2hkdyh7P1c
https://dl.doubtnut.com/l/_44IKtUvx7FQH

° Watch Video Solution

2

4. Draw the graph of (i) y=2“ — x — 6 and

find zeros in each case. What do you notice?

o Watch Video Solution

5. Draw the graph of (i) y = 6 — z — 2 and

find zeros in each case. What do you notice?

° Watch Video Solution



https://dl.doubtnut.com/l/_44IKtUvx7FQH
https://dl.doubtnut.com/l/_PrjTS0JcvkEa
https://dl.doubtnut.com/l/_dEJThPpw9xQe
https://dl.doubtnut.com/l/_74BMW8SIdZNq

6. Write three quadratic polynomials that have

2 zeroes each.

o Watch Video Solution

7. Write one qudratic polynomial that has one

zZero.

° Watch Video Solution



https://dl.doubtnut.com/l/_74BMW8SIdZNq
https://dl.doubtnut.com/l/_nscykaCgPcxX

8. Write one qudratic polynomial that has one

Zero.

o Watch Video Solution

9. Write three qudratic polynomial that have

no zeroes for x that are real numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_7HLLPspKmQbR
https://dl.doubtnut.com/l/_4XyaHWNvCRDR

10. Find the zeroes of cubic polynomials
(i) —z> without drawing the graph of the

polynomial.

o Watch Video Solution

11. Find the zeroes of cubic polynomials
(ii) z2 — z* without drawing the graph of the

polynomial.

o Watch Video Solution



https://dl.doubtnut.com/l/_GrBLoWKoK3IH
https://dl.doubtnut.com/l/_aZTY8laCybwU
https://dl.doubtnut.com/l/_nxjDEnzpCSEh

12. Find the zeroes of cubic polynomials
(iii) 2> — 5z* + 6z without drawing the graph

of the polynomial.

o Watch Video Solution

1. Find a quadratic polynomial with zeroes -2

dl
an 3

o Watch Video Solution



https://dl.doubtnut.com/l/_nxjDEnzpCSEh
https://dl.doubtnut.com/l/_xfkJjngqTTLJ

2. What is the quadratic polynomial whose

sum of zeroes is 5 and the product of

zeroes is — 1.

o Watch Video Solution

1.1f p(x) = 5z” — 62° + 7z — 6, find

(i) coefficient of z°

o Watch Video Solution



https://dl.doubtnut.com/l/_UsYq1B1F6mPH
https://dl.doubtnut.com/l/_RUeDd9H3WOur

2.1f p(x) = 52" — 62> + Tz — 6, find

(ii) degree of p(x)

° Watch Video Solution

3.1f p(x) = 52" — 62° + Tz — 6, find

(iii) constant term.

o Watch Video Solution



https://dl.doubtnut.com/l/_RUeDd9H3WOur
https://dl.doubtnut.com/l/_YP38uNSt9pz5
https://dl.doubtnut.com/l/_p2yYSPx2xsF6

4. Write three more polynomials and create

three questions for each of them.

° Watch Video Solution

5. State which of the following statements and
true and which are false? Give reasons for your
choice.

(i) The degree of the polynomial

V2x% — 3z + lisy/2.

° Watch Video Solution



https://dl.doubtnut.com/l/_o0jxv8eksO9j
https://dl.doubtnut.com/l/_N4H5zW0d1EOb

6. State which of the following statements and
true and which are false? Give reasons for your
choice.

(i) The coefficient of z* in the polynomial

p(z) = 3z — 4z + 5z + Tis 2.

o Watch Video Solution

7. State which of the following statements and

true and which are false? Give reasons for your


https://dl.doubtnut.com/l/_N4H5zW0d1EOb
https://dl.doubtnut.com/l/_bdLEycIxlzgW
https://dl.doubtnut.com/l/_koLZknf19z08

choice.

(iii) The degree of a constant term is zero.

° Watch Video Solution

8. State which of the following statements and
true and which are false? Give reasons for your

choice.

1
1\ is a quadratic polynomial.
(iv) x2 —5r +6 I POy

o Watch Video Solution



https://dl.doubtnut.com/l/_koLZknf19z08
https://dl.doubtnut.com/l/_qlhwA8TDPhLK

9. State which of the following statements and
true and which are false? Give reasons for your
choice.

(v) The degree of a polynomial is one more

than the number of term in it.

o Watch Video Solution

10.1f p(t) = t3 — 1, find the value of p(1).

o Watch Video Solution



https://dl.doubtnut.com/l/_HAu6rkQc1x16
https://dl.doubtnut.com/l/_qtgmbRRvmwI5
https://dl.doubtnut.com/l/_oLdOIZEd3W4N

Mifp(t) = t3 — 1, find the value of p(-1).

o Watch Video Solution

12.1f p(t) = > — 1, find the value of p(0).

o Watch Video Solution

1B.If p(t) = t3 — 1, find the value of p(2).

o Watch Video Solution



https://dl.doubtnut.com/l/_oLdOIZEd3W4N
https://dl.doubtnut.com/l/_OT67tQW7Kpm9
https://dl.doubtnut.com/l/_NejrRhaeZUW8
https://dl.doubtnut.com/l/_o53I19kd6tA3

14.1f p(t) = t° — 1, find the value of p(-2).

o Watch Video Solution

15. Check whether -2 and 2 are the zeroes of

the polynomial z* — 16.

o Watch Video Solution

16. Check whether 3 and -2 are the zeroes of

2

the polynomial p(x) when p(z) = z° — = — 6.

| & I


https://dl.doubtnut.com/l/_o53I19kd6tA3
https://dl.doubtnut.com/l/_v0yhEu1czsqN
https://dl.doubtnut.com/l/_bhXgJoifiDG2

| ¥ Watch Video Solution |

1. The graphs of y = p(x) are given in the figure
below, for some polynomials p(x). In each case,

find the number of zeroes of p(x).

&2

o Watch Video Solution



https://dl.doubtnut.com/l/_bhXgJoifiDG2
https://dl.doubtnut.com/l/_TQ4PSnLK2G68

2.The graphs of y = p(x) are given in the figure
below, for some polynomials p(x). In each case,

find the number of zeroes of p(x).
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o Watch Video Solution



https://dl.doubtnut.com/l/_fIPX7kYdTwjf
https://dl.doubtnut.com/l/_i1XthWKFwZSb

3. The graphso fy = p(x) are given in the figure
below, for some polynomials p(x). In each case,

find the number of zeroes of p(x).
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o Watch Video Solution



https://dl.doubtnut.com/l/_i1XthWKFwZSb
https://dl.doubtnut.com/l/_A5TDM82Qp4jB

4.The graphso fy = p(x) are given in the figure
below, for some polynomials p(x). In each case,

find the number of zeroes of p(x).
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o Watch Video Solution



https://dl.doubtnut.com/l/_A5TDM82Qp4jB
https://dl.doubtnut.com/l/_zSwPeRlnzAQ0

5. Find the zeroes of the given polynomials.

(i) p(xz) = 3z

o Watch Video Solution

6. Find the zeroes of the given polynomials.

(i) p(xz) = z* + 5z + 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_zSwPeRlnzAQ0
https://dl.doubtnut.com/l/_v0RinuR029cO

7.Find the zeroes of the given polynomials.

(iii) p(x) = (= + 2)(x + 3).

o Watch Video Solution

8.Find the zeroes of the given polynomials.

(iv) p(z) = z* — 16.

o Watch Video Solution



https://dl.doubtnut.com/l/_JwFGluuHLmLb
https://dl.doubtnut.com/l/_kHH0AqeFeVcS

9. Draw the graphs of the given polynomial
and find the zeroes. Justify the answer.

(i) p(z) = 2> —z — 12

o Watch Video Solution

10. Draw the graphs of the given polynomial
and find the zeroes. Justify the answer.

(i) p(z) = z* — 6z + 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_CuEFN34RJuV6
https://dl.doubtnut.com/l/_2gNadxMIPTqR
https://dl.doubtnut.com/l/_GTvVLVXFeTM1

1. Draw the graphs of the given polynomial
and find the zeroes. Justify the answer.

(i) p(z) = z* — 4z + 5.

o Watch Video Solution

12. Draw the graphs of the given polynomial
and find the zeroes. Justify the answer.

(iv) p(z) = z° + 3z — 4

o Watch Video Solution



https://dl.doubtnut.com/l/_GTvVLVXFeTM1
https://dl.doubtnut.com/l/_mj9U4B9eFJrD
https://dl.doubtnut.com/l/_J76sl96tJMlO

13. Draw the graphs of the given polynomial

and find the zeroes. Justify the answer.

v) p(z) = 2* — 1.

o Watch Video Solution

14. Why are 1 and -1 zeroes of the polynomial

p(z) = 42® + 3z — 1?

o Watch Video Solution



https://dl.doubtnut.com/l/_J76sl96tJMlO
https://dl.doubtnut.com/l/_pfHXKHdUGz0L
https://dl.doubtnut.com/l/_J3JM1j6isaKo

1. Find the zeroes of the following quadratic
polynomials and verify the relationship
between the zeroes and the coefficients.

(i) 2% — 22 — 8.

° Watch Video Solution

2. Find the zeroes of the following quadratic
polynomials and verify the relationship

between the zeroes and the coefficients.

(ii) 622 — 3 — 7.

| €8 |


https://dl.doubtnut.com/l/_J3JM1j6isaKo
https://dl.doubtnut.com/l/_xCR7mfw13CSm

| ¥ Watch Video Solution J

3. Find the zeroes of the following quadratic
polynomials and verify the relationship
between the zeroes and the coefficients.

(iii) 45> — 4s + 1.

° Watch Video Solution

4. Find the zeroes of the following quadratic

polynomials and verify the relationship


https://dl.doubtnut.com/l/_xCR7mfw13CSm
https://dl.doubtnut.com/l/_34K2cvZXFJIa
https://dl.doubtnut.com/l/_cZZDXbzKAuC9

between the zeroes and the coefficients.

(iv) 4u® + 8u

° Watch Video Solution

5. Find the zeroes of the following quadratic
polynomials and verify the relationship

between the zeroes and the coefficients.

(v) 2 — 15

o Watch Video Solution



https://dl.doubtnut.com/l/_cZZDXbzKAuC9
https://dl.doubtnut.com/l/_Fm0bBuorZan8

6. Find the zeroes of the following quadratic
polynomials and verify the relationship

between the zeroes and the coefficients.

(vi) 322 — = — 4.

o Watch Video Solution

7. Find the quadratic polynomial in each case,
with the given numbers as the sum and

product of its zeroes respectively.

| & I


https://dl.doubtnut.com/l/_9Jk3ppcjsXav
https://dl.doubtnut.com/l/_mS4GWlhaqrJ9

| ¥ Watch Video Solution |

8. Find the quadratic polynomial in each case,
with the given numbers as the sum and

product of its zeroes respectively.

1
(i) V2, 5.

° Watch Video Solution

9. Find the quadratic polynomial in each case,

with the given numbers as the sum and


https://dl.doubtnut.com/l/_mS4GWlhaqrJ9
https://dl.doubtnut.com/l/_Btf0696rFkfu
https://dl.doubtnut.com/l/_Y2zdqrtGfSMD

product of its zeroes respectively.

(iii) 0, /5.

° Watch Video Solution

10. Find the quadratic polynomial in each case,
with the given numbers as the sum and
product of its zeroes respectively.

(iv) 1,1

o Watch Video Solution



https://dl.doubtnut.com/l/_Y2zdqrtGfSMD
https://dl.doubtnut.com/l/_kgpkXlBSJA49

11. Find the quadratic polynomial in each case,
with the given numbers as the sum and

product of its zeroes respectively.

1 1

(V) _Zv Z

o Watch Video Solution

12. Find the quadratic polynomial in each case,
with the given numbers as the sum and
product of its zeroes respectively.

4]

| & I


https://dl.doubtnut.com/l/_7rM6VR8FzJU9
https://dl.doubtnut.com/l/_1qoPZ3mhEP1C

| ¥ Watch Video Solution |

13. Find the quadratic polynomial, for the
zeroes a, (B given in each case.

(i) 2,-1

o Watch Video Solution

14. Find the quadratic polynomial, for the

zeroes a, B given in each case.

(i) /3, — /3

o Watch Video Solution



https://dl.doubtnut.com/l/_1qoPZ3mhEP1C
https://dl.doubtnut.com/l/_uneNeiwDEQUr
https://dl.doubtnut.com/l/_5YC5fS8ncceB

15. Find the quadratic polynomial, for the

zeroes a, (B given in each case.

o Watch Video Solution

16. Find the quadratic polynomial, for the

zeroes a, (B given in each case.

1 3

(lV) 57 E

o Watch Video Solution



https://dl.doubtnut.com/l/_5YC5fS8ncceB
https://dl.doubtnut.com/l/_hR3gFbgL8vOm
https://dl.doubtnut.com/l/_4AM8JdJtTmzm

17. Verify that 1, -1 and -3 are the zeroes of the
cubic polynimial z* + 3z? — 2 — 3 and check
the relationship between zeroes and the

coefficients.

° Watch Video Solution

1. Divide the polynomial p(x) by the polynomial

g(x) and find the quotient and reminder in


https://dl.doubtnut.com/l/_4AM8JdJtTmzm
https://dl.doubtnut.com/l/_zTdZWqoyzZMo
https://dl.doubtnut.com/l/_jNpTA5Hd98F7

each of the following.

(i) p(z) = 2> — 32* + 5z — 3, g(x) = z* — 2

° Watch Video Solution

2. Divide the polynomial p(x) by the polynomial
g(x) and find the quotient and reminder in
each of the following.

(i)

p(z) =z* — 32> + 4z +5,9(z) =2 +1—=z

° Watch Video Solution



https://dl.doubtnut.com/l/_jNpTA5Hd98F7
https://dl.doubtnut.com/l/_33S6wRroJYEk
https://dl.doubtnut.com/l/_cBmqD6WmAD6W

3. Divide the polynomial p(x) by the polynomial
g(x) and find the quotient and reminder in
each of the following.

(i) p(z) = z* — 5z + 6, g(z) = 2 — 2.

° Watch Video Solution

4. Check in which case the first polynomial is a
factor of the second polynomial by dividing
the second polynomial by the first polynomial :

(i) t? — 3, 2% + 33 — 2t — 9t — 12.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_cBmqD6WmAD6W
https://dl.doubtnut.com/l/_rzprlzEPIO74

5. Check in which case the first polynomial is a
factor of the second polynomial by dividing
the second polynomial by the first polynomial :

(i) 22 + 3z + 1, 3z* + 523 — 72% + 2z + 2.

° Watch Video Solution

6. Check in which case the first polynomial is a

factor of the second polynomial by dividing


https://dl.doubtnut.com/l/_rzprlzEPIO74
https://dl.doubtnut.com/l/_Uhgx8uDdK3V3
https://dl.doubtnut.com/l/_HrqHwrL63D9T

the second polynomial by the first polynomial :

(iii):c3—3:1:+1,:1;5—4:c3+w2+333—|—1.

° Watch Video Solution

7. Obtain all other zeroes of

3z* + 623 — 222 — 10z — 5, if two of its

5 5
zeroes are 4 [ = an 5"

o Watch Video Solution



https://dl.doubtnut.com/l/_HrqHwrL63D9T
https://dl.doubtnut.com/l/_IgLN6p0DPw0X

8. On dividing z°—32>+z+2 by a
polynomial g(x), the quotient and remainder

were x-2 and -2x+4, respectively. Find g(x).

o Watch Video Solution

9. Give example of polynomials p(x), g(x), q(x)
and r(x), which satisfy the division algorithm

and

(i) deg p(x) = deg q(x).

° Watch Video Solution



https://dl.doubtnut.com/l/_G9Tb44R31Vyq
https://dl.doubtnut.com/l/_BW5YAOyapPw5

10. Give example of polynomials p(x), g(x), q(x)
and r(x), which satisfy the division algorithm

and

(i) deg q(x) = deg r(x).

o Watch Video Solution

11. Give example of polynomials p(x), g(x), q(x)
and r(x), which satisfy the division algorithm
and

(iii) deg r(x) = 0.


https://dl.doubtnut.com/l/_BW5YAOyapPw5
https://dl.doubtnut.com/l/_IDltA5HIc1iD
https://dl.doubtnut.com/l/_oZJpNbixeaqC

° Watch Video Solution

Optional exercise

1. Verify that the numbers given along side the

cubic polynomials below are their zeroes. Also
verify the relationship between the zeroes and

the coefficients in each case.

1
(i) 22° + 2 — bz + 2, (5,1, —2)

o Watch Video Solution



https://dl.doubtnut.com/l/_oZJpNbixeaqC
https://dl.doubtnut.com/l/_2ujq1tcb2TAx
https://dl.doubtnut.com/l/_jPyuEhVFX3XO

2. Verify that the numbers given along side the
cubic polynomials below are their zeroes. Also
verify the relationship between the zeroes and

the coefficients in each case.

(i) ° + 42 + 5z — 2, (1,1, 1)

o Watch Video Solution

3. Find a cubic polynomial with the sum, sum
of the product of its zeroes taken two at a
time, and the product of its zeroes as 2, -7, -14

respectively.


https://dl.doubtnut.com/l/_jPyuEhVFX3XO
https://dl.doubtnut.com/l/_uks8MltFA33k

° Watch Video Solution

4. If the zeroes of the polynomial

2 — 322 +x + 1are a-b, a,a+b, find a and b.

o Watch Video Solution

5. If two zeroes of the polynomial
x* — 62° — 26z% + 138z — 35 are 2+ ./3

find the other zeroes.

o Watch Video Solution



https://dl.doubtnut.com/l/_uks8MltFA33k
https://dl.doubtnut.com/l/_buqO0fphTBWE
https://dl.doubtnut.com/l/_BeGAww15Y9RK

6. If the polynomial
z? — 62 — 162? + 252 + 10 is divided by
another polynomial z*> -2z +k , the

remainder comes out to be x+a, find k and a.

° Watch Video Solution

Part -A : Observation Material to solve various

questions given in the public examination ( 1

Mark Questions)



https://dl.doubtnut.com/l/_BeGAww15Y9RK
https://dl.doubtnut.com/l/_va47jmRVV9vC

1.If p(z) = z* — 5z — 6, find the value of p(3).

o Watch Video Solution

2. Write two more polynomials and create two

questions for each of them.

o Watch Video Solution

:c5—|—a34—|—:c3+332

3. Find the quotient
3+ 22 +z+1

When z # 1.



https://dl.doubtnut.com/l/_iQohGDame4pV
https://dl.doubtnut.com/l/_b0ZiSL28x7xp
https://dl.doubtnut.com/l/_ehsdtAevnBOs

\ o Watch Video Solution

4. We can write a trinomial having degree 7,
Justify the given statement by giving one

example.

o Watch Video Solution

5. For what value of k, -4 is a zero of the

polynomial z* — = — (2k + 2).

o Watch Video Solution



https://dl.doubtnut.com/l/_ehsdtAevnBOs
https://dl.doubtnut.com/l/_uNYQ0yKOyhjO
https://dl.doubtnut.com/l/_l0Joyn8HFJue

6. Write an example for a quadratic polynomial

which has no zeroes.

o Watch Video Solution

7. If plzr)=2°—-3z"+2x -3 is a

polynomial, then find the value of p(1).

o Watch Video Solution



https://dl.doubtnut.com/l/_l0Joyn8HFJue
https://dl.doubtnut.com/l/_Hq56WgH4U7dQ
https://dl.doubtnut.com/l/_ZkgVBcLLpCRs

8. Srikar says that the order of the polynomial
<CL‘2 — 5) (:1:3 + 1) is 6. do you agree with him

? How?

o Watch Video Solution

9. Find the zeroes of the polynomial

p(z) = 2* — 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_IJlF1eFbkV7a
https://dl.doubtnut.com/l/_o5c19eyGEiJ7

10. Verify the relation between zeroes and

coefficients of the Quadratic polynomial

z? — 4.

o Watch Video Solution

Part -A : Observation Material to solve various

questions given in the public examination ( 2
Mark Questions)

1. If we multiply or divide both sides of a linear

equation by a non zero number, then the


https://dl.doubtnut.com/l/_rGr9yNM9vh5o
https://dl.doubtnut.com/l/_nqcPdedgzLeI

roots of linear equation will remain the same.

Is it true? If so justify with an example.

° Watch Video Solution

2. The length of a rectangle is 5 more than its
breadth, so express its perimeter in the form

of polynomial.

° Watch Video Solution



https://dl.doubtnut.com/l/_nqcPdedgzLeI
https://dl.doubtnut.com/l/_G3HiJgKZ1KJ3

3. Show that 2 and _§ are zeroes of the

polynomial 32% — 5z — 2.

o Watch Video Solution

4. Which of /2 and 2 is a zero of the

polynomial p(z) = z* — 22? Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_394jEezY2Obu
https://dl.doubtnut.com/l/_CZ01bBIne1sF

5. Divide z° — 3z? + 52z — 3 by 2> — 2 and

verify the divison lemma.

o Watch Video Solution

6. 56085 X JeVD



https://dl.doubtnut.com/l/_gfkaOXvOiNgK
https://dl.doubtnut.com/l/_QXv2ovNKWiOi

° Watch Video Solution

Part -A : Observation Material to solve various

questions given in the public examination ( 4

Mark Questions)

1. Solve the qudratic polynomial 2% — 3z — 4

by graphical method.

o Watch Video Solution



https://dl.doubtnut.com/l/_QXv2ovNKWiOi
https://dl.doubtnut.com/l/_7ytGzDd1vz0E

2. Draw the graph of polynomial 4z + 4z — 3

by graph.

° Watch Video Solution

3. Laxmi does not want to disclose the |, b,h of
a cuboid of her project. She has constructed a
polynomial 2° — 6z* + 112 — 6 by taking the
value of |, b, h as its zeroes. Can you open the

secret?

° Watch Video Solution



https://dl.doubtnut.com/l/_O4irf0yGrDyj
https://dl.doubtnut.com/l/_x5fcopA7KSPF

4., Draw a graph for the polynomial
p(z) = 2> + 3z — 4 and find its zeros from

the graph.

° Watch Video Solution

5. Draw the graph of the polynomial
p(x) = 32> + 2z — 1 on the graph paper.

Find its zeroes from the graph.

° Watch Video Solution



https://dl.doubtnut.com/l/_x5fcopA7KSPF
https://dl.doubtnut.com/l/_eAObWItdtAQr
https://dl.doubtnut.com/l/_7vEVA3t2EoGk

6. Draw the graph of polynomial
p(z) = z* — 3z + 2 and find the zeros from

the graph.

o Watch Video Solution

7. Draw the graph of the polynomial
p(z) = z* — 5z + 4 on the graph paper. Find

its zeroes from the graph.

o Watch Video Solution



https://dl.doubtnut.com/l/_BqrA2BzE88Xc
https://dl.doubtnut.com/l/_Zxf9nDPkbLlL
https://dl.doubtnut.com/l/_1DEtFPI5f4np

8.0n dividing 2> — 322 — Tby 2* — 2z + 4, if
the remainder is in the form of Ax + B, find

the values of A and B.

o Watch Video Solution

9. Divide 3z* — 52> + 42° 4+ 3z — 5 by z? — 3

and verify the division algorithm.

° Watch Video Solution



https://dl.doubtnut.com/l/_1DEtFPI5f4np
https://dl.doubtnut.com/l/_0pMLg6y9AT0m

10. Draw the graph for the polynomial
p(x) = z* — 5z + 6 and find the zeroes from

the graph.

o Watch Video Solution

11. Draw the graph of p(z) — 2> — 2z — 8 and

find the zeroes of the polynomial from it.

° Watch Video Solution



https://dl.doubtnut.com/l/_diTWYSFwTOue
https://dl.doubtnut.com/l/_cdTD9vf74FWg

12. Total number of pencils required are given
by 4z* + 223 — 2% + 62z — 66. If each box
contains z* + 2z — 3 pencils, then find the

number of boxes to be purchesed.

° Watch Video Solution

13. Find the zeroes of the quadratic polynomial

p(z) = 2> + & — 20 using graph.

o Watch Video Solution



https://dl.doubtnut.com/l/_WMhBul0CtxWx
https://dl.doubtnut.com/l/_PlKx8stOXvmA

Creative Questions for CCE Model Examination

1. Find the zeroes of £ + 8z + 15.

° Watch Video Solution

2. How do you say that the maximum number

of zeroes of 2 + 8z + 15is 2 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_8ZafvFLSxjJD
https://dl.doubtnut.com/l/_h2TgG7un0D67

3. Find the zeroes of 2> + 8z + 15.

o Watch Video Solution

4., Check whether '6' becomes a zero of

z? + 8 -+ 15 or not? Give reasons.

° Watch Video Solution

5. 8 times of a number is added to its square

give a result -15. then find the number by using


https://dl.doubtnut.com/l/_rcq1vxXHIxzs
https://dl.doubtnut.com/l/_ijaZtBuuIAfi
https://dl.doubtnut.com/l/_6bmPowBikWK0

its quadratic equation.

o Watch Video Solution

6. In how many points will the graph of

z? + 8z + 15 intersect X - axis? Why?

° Watch Video Solution

7. Express the polynomial z? 4+ 8z + 15 in

view of variable'y'.

o Watch Video Solution



https://dl.doubtnut.com/l/_6bmPowBikWK0
https://dl.doubtnut.com/l/_lQoQg1lDJ8fU
https://dl.doubtnut.com/l/_9zVwUaw6u3eE

8. State the relation between coefficient of

polynomial and zeroes of it.

° Watch Video Solution

9.Find p(3) if p(z) = z? — 5z + 6 is given.

° Watch Video Solution

Part - B : Observation bits to solve various bits

given in the public examination.


https://dl.doubtnut.com/l/_9zVwUaw6u3eE
https://dl.doubtnut.com/l/_5GMupc4C3qQq
https://dl.doubtnut.com/l/_UjSscz0Qqe1J

1. Order of the polynomial

522 — 62° + T2 — 6iS e

A 4

B.5

C.6

D.7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_SYayIDQj6jbb
https://dl.doubtnut.com/l/_5Np85dluZOax

2. Sum of zeroes of

222 — 82 + 6iS s

A4

Answer: A

the

polynomial

° Watch Video Solution



https://dl.doubtnut.com/l/_5Np85dluZOax
https://dl.doubtnut.com/l/_WulLlMSJ27fR

3. Product of zeroes of the cubic polynomial

32% — 522 — 11z — 3is v,

Al

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_WulLlMSJ27fR

4. The value of p(z) = 42® + 3z + 1 at x = -1

A 4
B.3
C.2

D. 1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8ojD3KwZWcC6
https://dl.doubtnut.com/l/_MaLgisnVAW4u

Answer: A

° Watch Video Solution

6.4y° — 5y + 1S @ oo


https://dl.doubtnut.com/l/_MaLgisnVAW4u
https://dl.doubtnut.com/l/_SVaQnk8Z96jO

A. linear polynomial

B. cubic polynomial

C. constant polynomial

D. quadratic polynomial

Answer: D

o Watch Video Solution

7. 4z 4 6y = 18 doesn't pass through origin.

It indicates a. ............


https://dl.doubtnut.com/l/_SVaQnk8Z96jO
https://dl.doubtnut.com/l/_yg4hUuW5Md6r

A. Curved line

B. Straight line

C. Parabola

D. None

Answer: B

° Watch Video Solution

8. If a, B are the zeroes of the polynomial

z?> — ¢ — 6then a?B%= ...


https://dl.doubtnut.com/l/_yg4hUuW5Md6r
https://dl.doubtnut.com/l/_4f632nVjwcd6

A.36

B.6

D.-36

Answer: A

° Watch Video Solution

9. When p(x) = x*(2) -8x +k' leaves a remainder

6 when it is divided by (x-1) then k = .............


https://dl.doubtnut.com/l/_4f632nVjwcd6
https://dl.doubtnut.com/l/_aB9sW1DzcWXf

A. 13

B.8

D.5

Answer: A

° Watch Video Solution

10. The zero value of linear polynomial ax - b =


https://dl.doubtnut.com/l/_aB9sW1DzcWXf
https://dl.doubtnut.com/l/_ZS2BkyfzZgpT

Answer: A

° Watch Video Solution

11. The product of zeroes of 2z° — 3z + 6 =


https://dl.doubtnut.com/l/_ZS2BkyfzZgpT
https://dl.doubtnut.com/l/_7rTa8ByAif7n

A3

Answer: A

° Watch Video Solution

12. Sum of

Zeroes

L2 AT L C = oo

of


https://dl.doubtnut.com/l/_7rTa8ByAif7n
https://dl.doubtnut.com/l/_PlsrsM9PijMo

Answer: A

° Watch Video Solution

13. If a, B,y are zeroes of 3 4+ 3z% —x + 2


https://dl.doubtnut.com/l/_PlsrsM9PijMo
https://dl.doubtnut.com/l/_1X07bnYlCmAw

A2

B.3

C.5

Answer: D

° Watch Video Solution

14. If p(z) = z° —az — 3 and p(2) = — 3,


https://dl.doubtnut.com/l/_1X07bnYlCmAw
https://dl.doubtnut.com/l/_0tvRtQsHaDLE

A2

Answer: A

° Watch Video Solution

15. Product of the zeroes of

p(x) = (x — 2)(T + 3) IS wrrrrrees


https://dl.doubtnut.com/l/_0tvRtQsHaDLE
https://dl.doubtnut.com/l/_c2sOxGEmzbif

D.6

Answer: A

o Watch Video Solution

16. If '4'" is one of the zeroes of

p(z) = 2> + kx — 8 , then the value of k


https://dl.doubtnut.com/l/_c2sOxGEmzbif
https://dl.doubtnut.com/l/_LgtZgP6tws7t

Al

Answer: D

° Watch Video Solution

17. The degree of the polynomial

\/551:2—3w+1= ............


https://dl.doubtnut.com/l/_LgtZgP6tws7t
https://dl.doubtnut.com/l/_WExRXVy0G8OF

B.3

C.1

D. 2

Answer: D

o Watch Video Solution

18. Which of the following equations has the

solution of (2,-3) ?


https://dl.doubtnut.com/l/_WExRXVy0G8OF
https://dl.doubtnut.com/l/_Dddg9SjuY218

A2z — 3y = 10

B.2z + 3y = 13

C.2x — 3y =13

D.2z +3y = — 13
Answer: C

o Watch Video Solution

19. If one zero of the polynomial
f(z) = 52* + 13z + k is reciprocal of the

other, then the value of k= ..........


https://dl.doubtnut.com/l/_Dddg9SjuY218
https://dl.doubtnut.com/l/_RMX8DSzN7MSz

A. 13

B.5

Answer: B

° Watch Video Solution

20. A qudratic polynomial the sum of whose

zeroes is zero and one zero is 4, IS ...


https://dl.doubtnut.com/l/_RMX8DSzN7MSz
https://dl.doubtnut.com/l/_efoJ96lBPwRQ

A x> — 16

B.z2 1 16

C.z’> -4

D.z2 + 4

Answer: A

° Watch Video Solution

21. If , B are the zeroes of z? + z + 1, then


https://dl.doubtnut.com/l/_efoJ96lBPwRQ
https://dl.doubtnut.com/l/_W9ZabZBPladE

Al

Answer: B

o Watch Video Solution

22. If '3' is one of the zeroes of

p(x) = 2> + kx — 9, then the value of k


https://dl.doubtnut.com/l/_W9ZabZBPladE
https://dl.doubtnut.com/l/_YQBn2dwJ1Auq

A.O

B.1

C.2

D.3

Answer: A

° Watch Video Solution

23. The degree of the polynomial

Bz’ — 6x2° + Tz — 4iS w


https://dl.doubtnut.com/l/_YQBn2dwJ1Auq
https://dl.doubtnut.com/l/_TCYi2WjRBJjq

A5

B.6

C.7

D. 4

Answer: C

o Watch Video Solution

24. Number of zeroes that can be identified by

the following figure ..............


https://dl.doubtnut.com/l/_TCYi2WjRBJjq
https://dl.doubtnut.com/l/_bh9VoOzJNSNJ

A.O

B.1

C.2

D.3



https://dl.doubtnut.com/l/_bh9VoOzJNSNJ

Answer: A

o Watch Video Solution

25. If a, B, are the zeroes of the cubic

polynomial az® 4 bz* 4 cx + d and (a # 0) ,


https://dl.doubtnut.com/l/_bh9VoOzJNSNJ
https://dl.doubtnut.com/l/_iSugF2hr7x1m

Answer: B

o Watch Video Solution

26. A qudratic polynomial , whose zeroes are

V2 and — /2 weens

Az?— 4
B.z2 + 4
C.x? —2

D.z% + 2


https://dl.doubtnut.com/l/_iSugF2hr7x1m
https://dl.doubtnut.com/l/_sY0zo9FcKuwZ

Answer: C

o Watch Video Solution

27. Sum of the zeroes of the polynomial

22 4 52 + 6iS werrrrn.

A5


https://dl.doubtnut.com/l/_sY0zo9FcKuwZ
https://dl.doubtnut.com/l/_ydvpqrn85xK5

Answer: B

o Watch Video Solution

28. Match of the following :

If a,8,v are zeroes of a cubic polynomial

a+B+y (o) -4
(iD)aB + By +va (B
(i) (c) — 2

A. (i) - c, (ii) - b, (iii) -a

B.(i)-a, (i) -b, (iii) -c


https://dl.doubtnut.com/l/_ydvpqrn85xK5
https://dl.doubtnut.com/l/_CF9alMgVlsyU

C.())-b, (i) -a, (i) -c

D.(i)-c,(i))-a, (i) -b

Answer: A

° Watch Video Solution

29. 5 — 3 represents ............ Polynomial.

A. Linear

B. Quadratic

C. Cubic


https://dl.doubtnut.com/l/_CF9alMgVlsyU
https://dl.doubtnut.com/l/_uNoeTVxwLG1F

D.Aand B

Answer: A

o Watch Video Solution

30. The number of zeros of the polynomial in

the graph is ............


https://dl.doubtnut.com/l/_uNoeTVxwLG1F
https://dl.doubtnut.com/l/_lgwoJymwG7wV

A.O

B.1

C.2

D.3

Answer: D

[ a Watch Video Solution


https://dl.doubtnut.com/l/_lgwoJymwG7wV

31. The quadratic polynomial having 2, 3, as

Zeroes is ...

A x2—5x —6

B.x2 + 5z + 6

C.z? —5x +6

D.z2 + 5z — 6

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lgwoJymwG7wV
https://dl.doubtnut.com/l/_pWPYfZdtCrDR

32. Which of the following has only one zero?
Ap(z) =222 — 3z +4
B.p(z) =22 — 2z + 1
C.p(x) =2x + 3

D.p(z) =5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_pWPYfZdtCrDR
https://dl.doubtnut.com/l/_xQyL2A1xyOTw
https://dl.doubtnut.com/l/_Dft6551Yi85G

33. Observe the given rectangular figure, then

its area in polynomial function is ...............

i
L

10-x

H
X+3

A A(z) = z° + Tz + 30
B.A(z) = —2° + Tz + 30
C.A(x) =2 — Tz + 30

D.A(z) = — z* — Tz + 30


https://dl.doubtnut.com/l/_Dft6551Yi85G

Answer: B

o Watch Video Solution

34.The following is the graph of a polynomial.
Find the zeroes of the polynomial from the

given graph.



https://dl.doubtnut.com/l/_Dft6551Yi85G
https://dl.doubtnut.com/l/_T8HBqiTM1IXc

A —23

B.1,3

c.—2,1

D.3,0

Answer: C

o Watch Video Solution

35. The coefficient of 2’ in the polynomial

T’ — 172 + 272° — Tis


https://dl.doubtnut.com/l/_T8HBqiTM1IXc
https://dl.doubtnut.com/l/_GOuWrjDi7aff

B.0

C.7

D. 17

Answer: B

° Watch Video Solution

36. Sum of zeroes of a polynomial

23 — 222 + 32 —4is .


https://dl.doubtnut.com/l/_GOuWrjDi7aff
https://dl.doubtnut.com/l/_DwuGf3x4JHS8

B.2

C.1

D. 4

Answer: B

o Watch Video Solution

37. The number of zeroes of the polynomial,

whose graph is given below:


https://dl.doubtnut.com/l/_DwuGf3x4JHS8
https://dl.doubtnut.com/l/_ek5Rx8Gj4jzc

A.O

B.1

C.2

D.3


https://dl.doubtnut.com/l/_ek5Rx8Gj4jzc

Answer: D

o Watch Video Solution

38. The value of x, which satisfies
2 —1) —(1—z) =2z + 3
A.2
B.4
C.6

D.8


https://dl.doubtnut.com/l/_ek5Rx8Gj4jzc
https://dl.doubtnut.com/l/_oy4NyiEuwOWw

Answer: C

o Watch Video Solution

39. If the polynomial
pz) =z —2*+3z+k is divided by
(z — 1), the remainder obtained is 3, then the
value of k is

A.O

B.1

C.3


https://dl.doubtnut.com/l/_oy4NyiEuwOWw
https://dl.doubtnut.com/l/_UhSLjCDJp0Ui

Answer: A

o Watch Video Solution

40. In a division, if divisor is x+1, quotient is x
and remainder is 4, then dividend is

Az’ + z

B.4(x +1) + x

Cax(x+1)+4


https://dl.doubtnut.com/l/_UhSLjCDJp0Ui
https://dl.doubtnut.com/l/_N8VGa6PY4D5b

D.4x + 4

Answer: C

o Watch Video Solution

Creative Bits for CCE Model Examination

1. A quadratic polynomial whose zeroes are 5

and -2 is

A x?+ 5z — 2


https://dl.doubtnut.com/l/_N8VGa6PY4D5b
https://dl.doubtnut.com/l/_T8DACiXsDmDA

B.z?> + 3z — 10

C.z? -3z — 10

D.z2 — 2z — 5

Answer: C

o Watch Video Solution

2.1f y = p(x) is represented by the given graph,

then the number of zeroes are


https://dl.doubtnut.com/l/_T8DACiXsDmDA
https://dl.doubtnut.com/l/_B0P03OPOuSiv

A2

B.3

C.4

D. 1

Answer: C

| €8


https://dl.doubtnut.com/l/_B0P03OPOuSiv

| ¥ Watch Video Solution J

3. If /3 and —,/3 are the zeroes of a
polynominal p(x), then p(x) is

Az’—9

B.3z2 — 1

C.z2+3

D.z2 — 3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_B0P03OPOuSiv
https://dl.doubtnut.com/l/_tdCdd0SAfJnc

4. The quadratic polynomial whose zeroes are

Vv15and — /15 is

A z2 — 15
B.z2 — 225
C.15z% — 1

D.z* — /15

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_tdCdd0SAfJnc
https://dl.doubtnut.com/l/_HI7NkRPxNDC0

5. If one zero of the quadratic polynomial

222 + kx — 15 is 3, then the other zero is

A—15
-2

B. k

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6jSgnsNz7qQN
https://dl.doubtnut.com/l/_VSbdiP0SngMy

6. The maximum number of zeroes that a

polynomial of degree 3 can have is

A. three

B.one

C. two

D. None

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VSbdiP0SngMy

7. The product and sum of the zeroes of the

quadratic polynomial

respectively are

S| o

N
Qo

Answer: D

az’ + bx + ¢

o Watch Video Solution



https://dl.doubtnut.com/l/_wNQS2VoZmBCM

8. The number of zeroes of the polynomial

function p(x) whose graph is given below is

Il'

——
” -~

'. ' 4 s x
——— ——dy————»
y.” | 9 1| P

Al

B.2

C.0

D.3

Answer: D



https://dl.doubtnut.com/l/_ZswWUcyGuuD7

L ' Watch Video Solution

9. The zeroes of the

p(z) = 42® — 12z + 9 are

A -3 -3

272

B.—3, — 4

c 3 3

272

D. 3,4
Answer: C

polynomial

o Watch Video Solution



https://dl.doubtnut.com/l/_ZswWUcyGuuD7
https://dl.doubtnut.com/l/_hkdoxxkfY4w5

10. If o and B are zeroes of the polynomial
p(z) = 2> — 5z + 6, then the value of
a+ 8 —3afis

A —13

B. 6

C.13

Answer: A

I o Watch Video Solution


https://dl.doubtnut.com/l/_hkdoxxkfY4w5
https://dl.doubtnut.com/l/_wh7i6siLT7sw

. The graph of the polynomial
f(x) =2x — 5 is a straight line which
intersects the X - axis at exactly one point

namely.



https://dl.doubtnut.com/l/_wh7i6siLT7sw
https://dl.doubtnut.com/l/_tUD9QtbeqFnw

Answer: C

o Watch Video Solution

12.If 1 is the zero of the quadratic polynomial

2 + kx — 5, then the value of k is

A.O

B.5

D.4


https://dl.doubtnut.com/l/_tUD9QtbeqFnw
https://dl.doubtnut.com/l/_kdaQRbqOkYii

Answer: D

o Watch Video Solution

13. The number of zeroes lying between -2 and

2 of the polynomial f(x) whose graph is given


https://dl.doubtnut.com/l/_kdaQRbqOkYii
https://dl.doubtnut.com/l/_DvSeRmxramzL

below is

A3

B.4

C.2

D. 1


https://dl.doubtnut.com/l/_DvSeRmxramzL

Answer: C

o Watch Video Solution

14. If both the zeroes of a quadratic
polynomial az® + bx +c¢ are equal and

opposite in sign, then b is

B.5
C.1

D.O


https://dl.doubtnut.com/l/_DvSeRmxramzL
https://dl.doubtnut.com/l/_2reNJqEYEiqr

Answer: D

o Watch Video Solution

15. Sum and product of the zeroes of
polynomial 2% — 3 are respectively.

A.0,3

B.0O,-3

C.—3,0

D. 3,0


https://dl.doubtnut.com/l/_2reNJqEYEiqr
https://dl.doubtnut.com/l/_eBigPgyCmkxP

Answer: B

o Watch Video Solution

16. If the zeroes of quadratic polynomial are

equal in magnitude but opposite in sign, then

A. product of its zeroes is O

B. sum of its zeroes is O

C. there are no zeroes of the polynomial

D.one of the zero is O


https://dl.doubtnut.com/l/_eBigPgyCmkxP
https://dl.doubtnut.com/l/_ex0MMLj48wJc

Answer: B

o Watch Video Solution

17. If one of the zeroes of the quadratic

polynomial az® 4+ bz + c is O, then the other

Zero is

b

A —
a
—cC

B. —
a
—b

C. —
a


https://dl.doubtnut.com/l/_ex0MMLj48wJc
https://dl.doubtnut.com/l/_3ZJk1FK4gfvG

Answer: C

o Watch Video Solution

18. The polynomial whose zero are -5 and 4 is

Az?+x—20

B.z2 + 5z — 4

C.z? — 9z — 20

D.x2—5a:+4

Answer: A


https://dl.doubtnut.com/l/_3ZJk1FK4gfvG
https://dl.doubtnut.com/l/_UXppOFQ2OYaN

° Watch Video Solution

19. If -1 is a zero of the polynomial

f(z) = x> — 7z — 8,then the other zero is

A.8

C.1

D.6

Answer: A

| 8 l


https://dl.doubtnut.com/l/_UXppOFQ2OYaN
https://dl.doubtnut.com/l/_6TABGBJNP3St

20. If one zero of the quadratic polynomial

2 — 5z — 6is 6, then the other zero is

Al

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6TABGBJNP3St
https://dl.doubtnut.com/l/_Q8Z4GuvEdpYE

21. If a and (3 are the zeros of the polynomial

f(z) =z* +pr +q , then a polynomial

1 1

having — and — as its zeros is ...
o

A.qw2+pa:—|—1
B.qa:2+p:c+10
C.pz’ +qr +1

D. none

Answer: A

I o Watch Video Solution


https://dl.doubtnut.com/l/_Q8Z4GuvEdpYE
https://dl.doubtnut.com/l/_csrT9mUk6bt5

22. If f(x) = az® + bx + ¢ has no real zeros

and a+b+c<0 then.....

>
N
I
o

B.clt9

C.clto

D.cgtO

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_csrT9mUk6bt5
https://dl.doubtnut.com/l/_Bc4z1n9AEda6

23. If a, B, v are the zeros of the polynomial
f(z) =ax® +bz* +cx +d then

1
— +
(87

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Bc4z1n9AEda6
https://dl.doubtnut.com/l/_NV6o8bJJCmL6

24. If the product of zeros of the polynomial
f(z) = az® — 62% 4+ 11z — 6 is 4, then a =

3 3 2 2
(a)a(b)—a(c)g(d)—g

D.9

Answer: B

I o Watch Video Solution


https://dl.doubtnut.com/l/_NV6o8bJJCmL6
https://dl.doubtnut.com/l/_jK0oDf6lLm74

25. If the order of

ar® + 3z* + 423 + 322 + 22 + 1 is 4 then a

A5
B.4
C.0O

D. not possible

Answer: C



https://dl.doubtnut.com/l/_jK0oDf6lLm74
https://dl.doubtnut.com/l/_4B4K5vBAdH6v

| ' Watch Video Solution |

26. If one zero of the polynomial
f(z) = 52> + 13z + k is reciprocal of the

other, then the value of k=...........

A5

C.1

D. none

Answer: A

[ 8 ) |


https://dl.doubtnut.com/l/_4B4K5vBAdH6v
https://dl.doubtnut.com/l/_2SxfKlMKKKfd

\ ° Watch Video Solution

27. If a,B are the zeros of polynomial
flx) =2 —plz+1) —c then

(a+1)(B+1) =

A a
B.1+ ¢
Cl-—-c
D.c

Answer: C


https://dl.doubtnut.com/l/_2SxfKlMKKKfd
https://dl.doubtnut.com/l/_CMHz9kaCErvY

° Watch Video Solution

28. If the sum of the zeros of the polynomial

f(z) = 22> — 3ka® + 4z — 5 is 6 then k =

B.9
C.0

D. 4

Answer: D


https://dl.doubtnut.com/l/_CMHz9kaCErvY
https://dl.doubtnut.com/l/_e1nbcDYnWyO9

° Watch Video Solution

29. If a, B, v are the zeros of the polynomial

f(z) = ax® + bx* + cx + d then

Answer: B


https://dl.doubtnut.com/l/_e1nbcDYnWyO9
https://dl.doubtnut.com/l/_ANvQvd8claK0

° Watch Video Solution

30. If the polynomial f(z) = az® + bz — c is
divisible by the polynomial

g(z) = 2> + bz + cthenab = ...

Al

B.7

D.O

Answer: A



https://dl.doubtnut.com/l/_ANvQvd8claK0
https://dl.doubtnut.com/l/_be5ixr5Up4PG

° Watch Video Solution

3. The product of the zeros of

22 + 422 + 2 — 6iS e

A.8
B.7

C.6

Answer: C

| 8 l


https://dl.doubtnut.com/l/_be5ixr5Up4PG
https://dl.doubtnut.com/l/_n8st4tdHN4om

32. A quadratic polynomial , the sum of whose

zeroes of 0 and one zero is 3 iS ............

Ax®+3

B.x —3

C.z?—9

D.z°> — 3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_n8st4tdHN4om
https://dl.doubtnut.com/l/_NtOLn8ZmYP2c

33. If /5 and —+/b are two zeros of the
polynomial z* + 3z* — 52 — 15 then its third

Zero IS ...

A7

B.3

D. None

Answer: C

l o Watch Video Solution


https://dl.doubtnut.com/l/_NtOLn8ZmYP2c
https://dl.doubtnut.com/l/_nnTPAhyp2q0m

34. If a, B, are the zeros of the polynomial

3 2 1
x® —px®+qr —r then — 4+ — 4+ —

.nhone

Answer: B

1 1
af By o

| &


https://dl.doubtnut.com/l/_nnTPAhyp2q0m
https://dl.doubtnut.com/l/_1OJAfaLhOMpK

| ¥ Watch Video Solution J

35.I1f £ + 2 is a factor of 2> + az + 2b and

a+b=4thena=....

A3

B.2

D.4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1OJAfaLhOMpK
https://dl.doubtnut.com/l/_8hVe4HP6i66M

36. In the above problem b = .................

A9

B.O

D. 1

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_8hVe4HP6i66M
https://dl.doubtnut.com/l/_oSj0sy3DsQWp
https://dl.doubtnut.com/l/_L5fVlmfXcLgE

37. If one zero of the polynomial
f(z) = (K* + 4)z* + 13z + 4k is reciprocal

of the other then k=...........

B.2
C.9

D. 1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_L5fVlmfXcLgE
https://dl.doubtnut.com/l/_gaWTwwqcbQX8

38. If two zeros of z° + z° — 5z — 5 are /5

and — /5 then its third zero is ...

A —3

B.2

D. none

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_gaWTwwqcbQX8

39. If zeros of polynomial

f(a:O — 2% — 3pz® + gz — r are in AP then

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_b7Xh7Q89BKQm

40. If o, B are the zeros of the polynomial

1 1
f(z) = ax® + bx +c then + =
o | B2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_nskzTHzTRTkW

41. What should be subtracted from the
polynomial z* — 16z 4 30 so that 15 is the

zero of the resulting polynomial?

A.15

C.—15

D. none

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_AOgTaLm6Xfq2

42.From the graph the number of zeros of the

polynomial is ...

&2

Al

B.2

C.4

D.7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CJvxZg2LQl0w

43. The number of zeros of the polynomial in

the graph is .........

A2

C. 4

D. 1


https://dl.doubtnut.com/l/_4WjwKwVUQWmS

Answer: D

o Watch Video Solution

44. The number of zeros of the polynomial in

the graph is ...........



https://dl.doubtnut.com/l/_4WjwKwVUQWmS
https://dl.doubtnut.com/l/_oMEuOaxvjRkR

Al

C.0

D. 4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_oMEuOaxvjRkR

45.The below graph represents

A. polynomial

B. not a polynomial

C. two zeros

D. none


https://dl.doubtnut.com/l/_87o6kukn25FM

Answer: B

° Watch Video Solution

46.The graph represents ...



https://dl.doubtnut.com/l/_87o6kukn25FM
https://dl.doubtnut.com/l/_rYqmDWB4Z7Vx

A. cubic polynomial

B. quadratic polynomial

C.straight line

D. none

Answer: A

o Watch Video Solution

47.ax + brepresents ... polynomial.

A. quadratic


https://dl.doubtnut.com/l/_rYqmDWB4Z7Vx
https://dl.doubtnut.com/l/_mr62tIy2UxuW

B. cubic

C.linear

D. none

Answer: C

o Watch Video Solution

48.ax> + bz + CiS @ v polynomial.

A. quadratic

B. linear


https://dl.doubtnut.com/l/_mr62tIy2UxuW
https://dl.doubtnut.com/l/_LvJpFtWhYPPa

C. cubic

D. fourth

Answer: A

° Watch Video Solution

49. Which of the following is a cubic

polynomial in general form?

Abrl+clz+xz+1

B.axz® + bx® + cx + d


https://dl.doubtnut.com/l/_LvJpFtWhYPPa
https://dl.doubtnut.com/l/_K4XfC6JHr1Cx

C.z?+ 23

D. none

Answer: B

° Watch Video Solution

50. The degree of the polynomial

az® + bz +cx® +dx +eis ..

A5

B.4


https://dl.doubtnut.com/l/_K4XfC6JHr1Cx
https://dl.doubtnut.com/l/_syo0eogG3LlT

C.6

D.O

Answer: B

° Watch Video Solution

~1 —2
51. agz” + a1z" "+ axx"  C +........a,T

is polynomial of degree ...

Al

B. n-2


https://dl.doubtnut.com/l/_syo0eogG3LlT
https://dl.doubtnut.com/l/_BhMIb7r2HO6Q

Answer: C

° Watch Video Solution

52.1f a>0 then the shape of az® + bz + ¢ = 0

A s

B. s


https://dl.doubtnut.com/l/_BhMIb7r2HO6Q
https://dl.doubtnut.com/l/_4MIg66JJuPmh

C.les

D. s

Answer: A

° Watch Video Solution

53. If a<0 then the shape of az® + bz + ¢ = 0

A s

B. s


https://dl.doubtnut.com/l/_4MIg66JJuPmh
https://dl.doubtnut.com/l/_pPISwKBhqNka

C.les

D. s

Answer: D

° Watch Video Solution

54. If a, B, are roots of a cubic polynomial


https://dl.doubtnut.com/l/_pPISwKBhqNka
https://dl.doubtnut.com/l/_g3LnOEkkj1Nu

Answer: C

° Watch Video Solution

55. If a, B, are roots of a cubic polynomial

then af + By + ya = ...


https://dl.doubtnut.com/l/_g3LnOEkkj1Nu
https://dl.doubtnut.com/l/_M85QSxpGNoHU

N

o
o~ ole

Answer: B

° Watch Video Solution

56. " Every quadratic polynomial will have 2

zeros". This is .............

A. false

B. sometimes true


https://dl.doubtnut.com/l/_M85QSxpGNoHU
https://dl.doubtnut.com/l/_Re5H0UAbo3O6

C. always true

D. can't be determined

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Re5H0UAbo3O6
https://dl.doubtnut.com/l/_LLmrig6eYkIq

Answer: D

o Watch Video Solution

A —9
B. —4
C.1

D.O



https://dl.doubtnut.com/l/_LLmrig6eYkIq
https://dl.doubtnut.com/l/_s35DAWLfobpD

Answer: A

o Watch Video Solution

59. p(z) = z* 4 5z + 6 then zeros of p(x) =
A—2 —3
B.3, — 2
C.4,1

D.1,8


https://dl.doubtnut.com/l/_s35DAWLfobpD
https://dl.doubtnut.com/l/_6mvnF5zAag7t

Answer: A

o Watch Video Solution

1
60.p(z) = 42* + 3z — 1 then p(Z) = e

Al

B.O

D. 12

Answer: B


https://dl.doubtnut.com/l/_6mvnF5zAag7t
https://dl.doubtnut.com/l/_pJnf7TFAL8fP

° Watch Video Solution

6l.2° + 7z + 10= ...

A (z + 3)°
B. (z + 2)°
C.(z —2)(z — 3)

D.(z + 2)(x + 5)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_pJnf7TFAL8fP
https://dl.doubtnut.com/l/_MniAUXER99tP

62. p(z) = x° + 4z* + 5z — 2 then p(1) =

A.8
B.7
C.3

D. none

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_MniAUXER99tP
https://dl.doubtnut.com/l/_SH0ntmw5mvgM
https://dl.doubtnut.com/l/_nEht0EUsN3H7

63. p(z) = 32> — 22 4+ 6z — 5 then p(2) =
A .19
B.10
C.12

D. 23

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_nEht0EUsN3H7
https://dl.doubtnut.com/l/_CcuL1bm0hOzH

64. If m and n zeros of the polynomial

322 + 11z — 4 then the value of m + L
n m

D. none

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_CcuL1bm0hOzH
https://dl.doubtnut.com/l/_vS51Xi7TJNTK

65. Sum of the zeros of z2 + Tz + 10 is

C.4

D. none

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_vS51Xi7TJNTK

66. The quadratic polynomial, whose sum and

product of zeros are 1 and -2 respectively is

A.a:z—i—a:—|—2

B.z’ —x — 2

Cz?—3z—1

D.z2 — 3z — 2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_8ES41J43THYC

67.If p and q are the zeros of the polynomial

2 — 4t + 3 then

C.2

D.3

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_LTbMX844Taf5

68. A polynomial of degree 3 is called ...

Polynomial.

A. zero

B. order

C. quadratic

D. cubic

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_BtRJTxx7ASwM
https://dl.doubtnut.com/l/_krQ7lhiLEkj3

69. The quotient when z* + z° 4+ z? — 2z — 3
is divided by 22 — 205 ..o

Az’ +z+3

B.x — 2

C.z’+3z+1

D. none

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_krQ7lhiLEkj3

70. Divide (z° — 6z +1lz —12) by
(:132 — T+ 2) then quotient is ...........

In the above problem the remainder is

B.4

C.3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_uWpunoHGMD51

71. One zero of the

1
222 + 3z + kis— then kK= ...

2

A4

B.1

C.2

Answer: D

polynomial

o Watch Video Solution



https://dl.doubtnut.com/l/_mb5eiAkAAScu
https://dl.doubtnut.com/l/_MkMdfQjAp3r5

72.In the above problem other zero is ...

B.2

C.3

D.4

Answer: A

° View Text Solution

73.Sum of the zeros of 622 = 1S v


https://dl.doubtnut.com/l/_MkMdfQjAp3r5
https://dl.doubtnut.com/l/_po3UQW1x5KWe

A3

B.2

C.0

Answer: C

° Watch Video Solution

74. What must be subtracted or added to
p(z) = 8z* + 1423 — 22% + 8z — 12 so that

4x* + 3x — 2is a factor of p(x)?


https://dl.doubtnut.com/l/_po3UQW1x5KWe
https://dl.doubtnut.com/l/_oQArj2DCO72k

Abxr — 3

B.15x — 1

C.bx — 2

D. 15-14°

Answer: D

o Watch Video Solution

75. The quadratic polynomial whose zeroes are

4+ /5and4 — \/5is .


https://dl.doubtnut.com/l/_oQArj2DCO72k
https://dl.doubtnut.com/l/_vRUQCw6e5Dz9

A x? + 8z + 11

B.z2 — 11z + 1

C.x’+82+3

D. none

Answer: A

o Watch Video Solution

76. If one of the zeros of the quadratic
polynomial  f(z) = 142® — 42k’ — 9 is

negative of the other then k = .................


https://dl.doubtnut.com/l/_vRUQCw6e5Dz9
https://dl.doubtnut.com/l/_n0twRNGFpINh

A3

C.0

D. none

Answer: C

o Watch Video Solution

77. If one zero of a polynomial
32> — 8z +2k+1=0 is seven times the

other then k=................


https://dl.doubtnut.com/l/_n0twRNGFpINh
https://dl.doubtnut.com/l/_xCbz92LRZZmL

W~ Wl

C.1

D. none

Answer: A

° Watch Video Solution

78.1f 2 + 3 is a factor of 225 — z — b + 92>

then the valueof b is ...............


https://dl.doubtnut.com/l/_xCbz92LRZZmL
https://dl.doubtnut.com/l/_4HTYi6SdAPpB

A3

B.7

C.10

D. 15

Answer: D

° Watch Video Solution

79. Divide (2°—6z° + 11z —12) by

(azz —x + 2) then quotient is ..............


https://dl.doubtnut.com/l/_4HTYi6SdAPpB
https://dl.doubtnut.com/l/_D7C9ntRSHXcU

Ax+5

B.x — 5

Cx+1

D. none

Answer: B

° Watch Video Solution

80. In the above problem remainder is ............

A2x — 1


https://dl.doubtnut.com/l/_D7C9ntRSHXcU
https://dl.doubtnut.com/l/_VgcHSKkoIgZV

B.x +1

C.4x — 2

D. none

Answer: C

o View Text Solution

81. If a and B are the zeros of the polynomial
p(x) = 2z* + bz + k satishfying the relation

a’ + 8%+ aBf = = thenk= ...


https://dl.doubtnut.com/l/_VgcHSKkoIgZV
https://dl.doubtnut.com/l/_mrrhay8UrjVB

Al

| o

Answer: C

° Watch Video Solution

82.

D) (e [) =


https://dl.doubtnut.com/l/_mrrhay8UrjVB
https://dl.doubtnut.com/l/_kzBoHC7tVsIA

3
H
B.z2 — —
T3
3
C.x?— —
T
D.z2 — 1
Answer: B

° Watch Video Solution

83. Product of zeros of 322 = 1is .........


https://dl.doubtnut.com/l/_kzBoHC7tVsIA
https://dl.doubtnut.com/l/_uGT18pR21Huz

Answer: D

o Watch Video Solution

84.Degree of '1' is ..........

Al

B.3


https://dl.doubtnut.com/l/_uGT18pR21Huz
https://dl.doubtnut.com/l/_T51Cv0Tf132M

C.0

D.7

Answer: C

° Watch Video Solution

85. Degree of 52" — 6z° + 7z + 1is ........

A 4
B.1

C.7


https://dl.doubtnut.com/l/_T51Cv0Tf132M
https://dl.doubtnut.com/l/_NQnuanRPWF8a

D.3

Answer: C

o Watch Video Solution

86. (37 — 4)(x + 1)= oo

A.cc2—3:13—|—1
B.z2 —z + 4
Cx?—3x+7

D.3z°2 —z — 4


https://dl.doubtnut.com/l/_NQnuanRPWF8a
https://dl.doubtnut.com/l/_sYZDHK0aiokM

Answer: D

o Watch Video Solution

A. X-/

B. x+7

C.x+3

D. x-1

Answer: A


https://dl.doubtnut.com/l/_sYZDHK0aiokM
https://dl.doubtnut.com/l/_YCTrSRpr9q8p

° Watch Video Solution

88. f(z) = 4x® + 4z — 3 then f(_Tg) -

C.1

D.7

Answer: A

| N |


https://dl.doubtnut.com/l/_YCTrSRpr9q8p
https://dl.doubtnut.com/l/_MfEQBimX2oG9

| ¥ Watch Video Solution

89. In the above

Al

B.7

C.9

D.O

Answer: D

problem

° View Text Solution



https://dl.doubtnut.com/l/_MfEQBimX2oG9
https://dl.doubtnut.com/l/_xPrLF7n4dpOI

90. (z + v/5) (2 — 3v/5) = «vevnnnn.
Az? —2,54+15
B.z* — 2,/5z — 15
C.z? — bz +15

D. none

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xPrLF7n4dpOI
https://dl.doubtnut.com/l/_oSyX7HSSprV6
https://dl.doubtnut.com/l/_yBDQ5PuMxHIY

ol.

(—:1:3+3:c2—3az+5)+(—:1:2—|—:13—1)=
Ax -+ 2
B.x — 2
Cx—1

D.x + 3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_yBDQ5PuMxHIY
https://dl.doubtnut.com/l/_jp6d2CuWgwOY

92. The remainder when 3z° + 22 + 2z + 5 is
divided by 2% + 2z + 1is ...

A 9z + 10

B.x + 10

Cx—1

D.92 — 1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jp6d2CuWgwOY

93.a = a — b, 8 = a + b then the quadratic

polynomial is ...

A 3 — a’z + b

B.z° — a’z —+ a’

Cx?—azr+a®+b

D.z? — 2ax + a® — b’

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NPQUh23lCQy6
https://dl.doubtnut.com/l/_nVf0x5Iv9wX1

94. If the product of zeros of 9z* + 3z + pis 7

B.-63
C.63

D.70

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_nVf0x5Iv9wX1

95. Degree of (x — 2)(x — 3) iS e

A3
B.2
C.1

D.7

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_iblJsMpMnNRf

96.The value of 21° — 1 at X=0iS wrvoee.

A3

B.9

C.7

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_OhbQema81ecY

97. Zeros of the polynomial z° — 4z + 3 and 1

and p the p = ...

A7
B.3
C.1

D. none

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_un2WEB4pIz65
https://dl.doubtnut.com/l/_JGA2vEIT76Os

98. Degree of a linear polynomial is ...

A2

B.3

C.7

D. 1

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_JGA2vEIT76Os
https://dl.doubtnut.com/l/_Rbn49XVaiqos

Aa’+1

B.a2+2+a

C.a’+2a+1

D. none

Answer: C

o Watch Video Solution

100. a + B3 = 0, a3 = /3 then the quadratic

polynomial is .............


https://dl.doubtnut.com/l/_Rbn49XVaiqos
https://dl.doubtnut.com/l/_CTnQCu8i2eBK

A.:1:2+1
B.x + /3
Cx —3

D.z* + /3

Answer: D

° Watch Video Solution

101.(:133—8)+:132—|—233—|—4

Ax—T7


https://dl.doubtnut.com/l/_CTnQCu8i2eBK
https://dl.doubtnut.com/l/_yGdZcVe9EPY4

B.x —1

Cx — 2

D. none

Answer: C

o Watch Video Solution

T
102.p(z) =

then P(O) =..............
l1—=x

Al


https://dl.doubtnut.com/l/_yGdZcVe9EPY4
https://dl.doubtnut.com/l/_a7fHQBYJmFKv

C.2

D.3

Answer: A

° Watch Video Solution

103. (2 — v/3) (z + /3) = e
Az +3
B.2> — 3

Ce — 7


https://dl.doubtnut.com/l/_a7fHQBYJmFKv
https://dl.doubtnut.com/l/_Erp3sGbFakHB

D. none

Answer: B

o Watch Video Solution

104. If one zero of the polynomial is /2 — 1
then other zero may be ...

Al+./3

B.-v/2 — 1

C.v/2 -2


https://dl.doubtnut.com/l/_Erp3sGbFakHB
https://dl.doubtnut.com/l/_j5dYB5gyKrcO

D. all

Answer: B

o Watch Video Solution

105. Binomial contains almost ........... Terms.

A5

B.4

C.1

D. 2


https://dl.doubtnut.com/l/_j5dYB5gyKrcO
https://dl.doubtnut.com/l/_Am0C90RUpc4j

Answer: D

° Watch Video Solution

106. The zeros from the below graph are ...........



https://dl.doubtnut.com/l/_Am0C90RUpc4j
https://dl.doubtnut.com/l/_f52GAQCcQnUX

B.O

C.2

D. all

Answer: D

o Watch Video Solution

107.p(z) =

Al

B.12


https://dl.doubtnut.com/l/_f52GAQCcQnUX
https://dl.doubtnut.com/l/_dkoNDIpMfYAk

C.0

D. not defined

Answer: D

° Watch Video Solution

108.p(z) = z° — x + k,p(1) = — 1then k=

B.1


https://dl.doubtnut.com/l/_dkoNDIpMfYAk
https://dl.doubtnut.com/l/_AZoGsUwYM4bD

C.3

D. 2

Answer: A

° Watch Video Solution

109. p( — 3) = 0 then p(x) =

Ax—T7
B.x +1

C.x — 14



https://dl.doubtnut.com/l/_AZoGsUwYM4bD
https://dl.doubtnut.com/l/_nCFq3oecankl

D.z + 3

Answer: D

o Watch Video Solution

110. Number of constant terms in the
polynomial 2 + 7z — 7is ...

A. 2

B.1

C.3


https://dl.doubtnut.com/l/_nCFq3oecankl
https://dl.doubtnut.com/l/_1pFUFBE1UcCM

Answer: B

o Watch Video Solution

1. In the product (z+4)(xz +2) the

constant termiis ............

A7

C.6


https://dl.doubtnut.com/l/_1pFUFBE1UcCM
https://dl.doubtnut.com/l/_nIoMLp3qR2rb

D.8

Answer: D

o Watch Video Solution

12. (V= /5) (VE + /) = v

A.:c—l—\/g_/
B.x +y

Cx—uy

D.\/z +y


https://dl.doubtnut.com/l/_nIoMLp3qR2rb
https://dl.doubtnut.com/l/_jT7hRfv4eVnD

Answer: C

o Watch Video Solution

113.p(%) = 0 then p(x) = e

Aax — b
B.bx — a
C.azx
D. bx

Answer: B


https://dl.doubtnut.com/l/_jT7hRfv4eVnD
https://dl.doubtnut.com/l/_Tv7RvZB7VzfB

° Watch Video Solution

114. a(a +1)(a+2)(a+3) +ala + 3)=
A (a+1)(a+2)
B.(a + 1)
C.(a+2)

D. none

Answer: A

| 8 l


https://dl.doubtnut.com/l/_Tv7RvZB7VzfB
https://dl.doubtnut.com/l/_dpySmNZBn3cz

15. (z° — 8z +12) + (z — 6) =

Ax+3
B.x +1
C.x + 2

D.x — 2

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_dpySmNZBn3cz
https://dl.doubtnut.com/l/_XM4WXCiNKsgU
https://dl.doubtnut.com/l/_wanuoyRkjXDL

116. Factors of 2° + z(a + b) + ab = ...

Az +a
B.x +b
C.both A& B

D. none

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wanuoyRkjXDL

117.2(3z% — 108) <+ 32(Z — 6) = wrcrcre

Ax—+3
B.x — 6
C.xz—+6

D.x — 7

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4cIS8oUtMmeW

118.(p + 4)(p — 4) (P° + 16)= v

A p* — 16
4

B.p" + 256

c.p® — 100

D.p* — 256

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Hx0D8fnZ7m3T

19. 36(x + 4)(z® + 7z + 10) + 9(z + 4) =
A 4(z + 5)(z + 2)
B.(x +5)(x — 7)
C.(x +5)(3z —1)

D. none

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_blmGLH1O9V1V

EXERCISE

1. State which of the following are polynomial

and which are not ? Give resons.

(i) 223

° Watch Video Solution

2. State which of the following are polynomial

and which are not ? Give resons.

1
r—1

(ii)

I ° Watch Video Solution


https://dl.doubtnut.com/l/_uOGj0zkCLLkM
https://dl.doubtnut.com/l/_8NgMCoeKzlki

3. State which of the following are polynomial

and which are not ? Give resons.

1
i 4 2 -
(iii) 42 + -

° Watch Video Solution

4. State which of the following are polynomial

and which are not ? Give resons.

(iv) m? — v/2m + 2

° Watch Video Solution



https://dl.doubtnut.com/l/_8NgMCoeKzlki
https://dl.doubtnut.com/l/_bFRlv6VgZZg1
https://dl.doubtnut.com/l/_5IeAyo2j1cfS

5. State which of the following are polynomial

and which are not ? Give resons.

VMp 2+1

° Watch Video Solution

6. If p(x) = z° — bz — 6, then find the values

of

p(l),p(z),p(?)),p(()),p( - 1),29( - 2)7p( - 3)

| 8 l


https://dl.doubtnut.com/l/_5IeAyo2j1cfS
https://dl.doubtnut.com/l/_f5JysWsYO4m3
https://dl.doubtnut.com/l/_H1YoJEY07GEa

7.1f p(m) = m? — 3m + 1, then find the value

of p(1) and p( — 1).

° Watch Video Solution

8. Let p(z) = z* — 4z + 3. Find the value of

p(0), p(1), p(2), p(3) and obtain zeroes of the

polynomial p(z).

° Watch Video Solution



https://dl.doubtnut.com/l/_H1YoJEY07GEa
https://dl.doubtnut.com/l/_eujsgTRnkKYu
https://dl.doubtnut.com/l/_EEo8pyjbsHmm

9. Check wheather -3 and 3 are the zeroes of

the polynomial ? — 9.

° Watch Video Solution

10. Write 3 different quadratic, cubic and 2
linear polynomials with different number of

terms.

° Watch Video Solution



https://dl.doubtnut.com/l/_QsJVC5ydBsFl
https://dl.doubtnut.com/l/_xcMzjuMCpQWi

11. Write a quadratic polynomial and a cubic

polynomial in variable x in the general form.

° Watch Video Solution

12. Write a general polynomial q(z) of degree n
with coefficients that are by.... b,. What are

the conditionson b (0)...... b,?

° Watch Video Solution



https://dl.doubtnut.com/l/_mXYsI1HlG4vb
https://dl.doubtnut.com/l/_saacx0WA1zoX

13.In p(z) = 5z’ — 6z° + Tz + 6, what is the
(i) coefficient of z° (ii) degree of p(z) (iii)

constant term.

o Watch Video Solution

14.1n p(z) = 5z’ — 62° + Tz + 6, what is the
(i) coefficient of z° (ii) degree of p(z) (iii)

constant term.

o Watch Video Solution



https://dl.doubtnut.com/l/_I82omvwiMTDS
https://dl.doubtnut.com/l/_BPONAcmdjKT7
https://dl.doubtnut.com/l/_gnIUX36VmAv6

15.1n p(z) = 5z’ — 6z + Tz + 6, what is the
(i) coefficient of z° (ii) degree of p(z) (iii)

constant term.

o Watch Video Solution

16. State which of the following statements are
true and which are false ? Give reasons for
your choice.

The degree of the polynomial v/2z* — 3z + 1

is /2.

o Watch Video Solution



https://dl.doubtnut.com/l/_gnIUX36VmAv6
https://dl.doubtnut.com/l/_e39peZvkjP5y

17. State which of the following statements are
true and which are false ? Give reasons for

your choice.

2

The coefficient of z“ in the polynomial

p(x) = 32° — 42 + 5z + Tis 2

o Watch Video Solution

18. State which of the following statements are

true and which are false ? Give reasons for


https://dl.doubtnut.com/l/_e39peZvkjP5y
https://dl.doubtnut.com/l/_C6EWz3pHbb4E
https://dl.doubtnut.com/l/_MoWOcH7G9uNQ

your choice.

the degree of a constant term is zero.

° Watch Video Solution

19. State which of the following statements

and true and which are false? Give reasons for

your choice.

(iv) 1 : dratic ool -

v is a quadratic polynomial.
r? —5x + 6 q POY

o Watch Video Solution



https://dl.doubtnut.com/l/_MoWOcH7G9uNQ
https://dl.doubtnut.com/l/_iRKcAW91yxok

20. State which of the following statements
are true and which are false ? Give reasons for
your choice.

The degree of a polynomial is one more than

the number of term in it.

o Watch Video Solution

21. If p(t) =t> —1, find the values of

p(1), p( — 1), p(0), p(2), p( — 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_shgjIoYIbbIl
https://dl.doubtnut.com/l/_CIydcinXEBE6

22. Check whether — 2 and 2 are the zeroes of

the polynomial z* — 16.

o Watch Video Solution

23. Check whether 3 and — 2 are the zeroes of

2

the polynomial p(z) when p(z) = ° —  — 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_CIydcinXEBE6
https://dl.doubtnut.com/l/_TGTqJ04KYB68
https://dl.doubtnut.com/l/_zXp91fQTosi2

24. Write three quadratic polynomials that

have 2 zeroes each.

o Watch Video Solution

25. Write one quadratic polynomial that has

one zero.

o Watch Video Solution



https://dl.doubtnut.com/l/_jZhgtLefWTjb
https://dl.doubtnut.com/l/_gOFUog5iftKw

26. How will you wverify if a quadratic

polynomial has only zero ?

o Watch Video Solution

27. Write three qudratic polynomial that have

no zeroes for x that are real numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_LWdOi1j5Kbwh
https://dl.doubtnut.com/l/_RVY1R0Kl6sI6

28. Find the zeroes of cubic polynomials
(i) —z® without drawing the graph of the

polynomial.

o Watch Video Solution

29. Find the zeroes of cubic polynomials
(ii) z2 — z* without drawing the graph of the

polynomial.

o Watch Video Solution



https://dl.doubtnut.com/l/_iOs3IX7jA95N
https://dl.doubtnut.com/l/_m1YdFGqlakGm
https://dl.doubtnut.com/l/_H8v4Jdm30o3O

30. Find the zeroes of cubic polynomials
(iii) 2> — 5z* + 6z without drawing the graph

of the polynomial.

o Watch Video Solution

31. Find the number zeroes of the given
polynomials. And also find their values.

p(x) =2z +1

o Watch Video Solution



https://dl.doubtnut.com/l/_H8v4Jdm30o3O
https://dl.doubtnut.com/l/_0Yz8hVJDJuX6
https://dl.doubtnut.com/l/_kSR2sVOkkCfK

32. Find the number of zeroes of the given

polyminals. And also find their values.

(i) g(y) =y* — 1

o Watch Video Solution

33. Find the number zeroes of the given
polynomials. And also find their values.

r(z) =z

o Watch Video Solution



https://dl.doubtnut.com/l/_kSR2sVOkkCfK
https://dl.doubtnut.com/l/_55OJ8flLJB3Y

34.Find the zeroes of the given polynomials.

p(x) = 3z

o Watch Video Solution

35. Find the zeroes of the given polynomials.

p(z) = z* + 5z + 6

o Watch Video Solution



https://dl.doubtnut.com/l/_vHtCrL0eZJ0I
https://dl.doubtnut.com/l/_iIeOLQsssgGS

36. Find the zeroes of the given polynomials.

p(z) = (z +2)(z + 3)

o Watch Video Solution

37.Find the zeroes of the given polynomials.

p(z) = z* — 16

o Watch Video Solution



https://dl.doubtnut.com/l/_PYHKqXnG47fK
https://dl.doubtnut.com/l/_Df6SvxXrmYJo

38. Draw the graphs of the given polynomial
and find the zeroes. Justify the answer.

(i) p(z) = 2> —z — 12

o Watch Video Solution

39. Draw the graphs of the given polynomial
and find the zeroes. Justify the answers.

p(z) = 2* — 6z +9

o Watch Video Solution



https://dl.doubtnut.com/l/_gzbzo9yGfAho
https://dl.doubtnut.com/l/_YKcejzXt82Bj
https://dl.doubtnut.com/l/_kwNMKRL9ubFm

40. Draw the graphs of the given polynomial
and find the zeroes. Justify the answers.

p(z) = 2* — 6z +9

o Watch Video Solution

41. Draw the graphs of the given polynomial
and find the zeroes. Justify the answer.

(iv) p(z) = z° + 3z — 4

o Watch Video Solution



https://dl.doubtnut.com/l/_kwNMKRL9ubFm
https://dl.doubtnut.com/l/_K76PgbPaKX9n
https://dl.doubtnut.com/l/_PxlEBF4cGD3L

42. Draw the graphs of the given polynomial

and find the zeroes. Justify the answer.

v) p(z) = 2% — 1.

o Watch Video Solution

43. Why are 1 and -1 zeroes of the polynomial

p(z) = 42® + 3z — 1?

° Watch Video Solution



https://dl.doubtnut.com/l/_PxlEBF4cGD3L
https://dl.doubtnut.com/l/_Lsy7elB65EAn

44. Find the zeroes of the quadratic polyno-
mials given below. Find the sum and product
of the zeroes and verify relationship to the

coefficients of terms in the polynomials.

(i) p(z) = z° — z — 6.

o Watch Video Solution

45. Find the zeroes of the quadratic polyno-
mials given below. Find the sum and product

of the zeroes and verify relationship to the


https://dl.doubtnut.com/l/_zvqD3DwDqRQL
https://dl.doubtnut.com/l/_xNfPsajGhNk1

coefficients of terms in the polynomials.

(i) p(z) = z* — 4z + 3.

° Watch Video Solution

46. Find the zeroes of the quadratic polyno-
mials given below. Find the sum and product
of the zeroes and verify relationship to the

coefficients of terms in the polynomials.

(i) p(z) = z* — 4

° Watch Video Solution



https://dl.doubtnut.com/l/_xNfPsajGhNk1
https://dl.doubtnut.com/l/_ypcST9Mqvmcg
https://dl.doubtnut.com/l/_U0vbDrwCfnc7

47. Find the zeroes of the quadratic polyno-
mials given below. Find the sum and product
of the zeroes and verify relationship to the
coefficients of terms in the polynomials.

(iv) p(z) = z* + 2z + 1.

° Watch Video Solution

48. Find a quadratic polynomial with zeroes -2

dl
an 3

o Watch Video Solution



https://dl.doubtnut.com/l/_U0vbDrwCfnc7
https://dl.doubtnut.com/l/_PefMwGStRNXq

49. What is the quadratic polynomial whose

sum of zeroes is 5 and the product of

zeroes is — 1.

o Watch Video Solution

50. Find the zeroes of the quadratic
polynomial z* 4+ 7z + 10, and verify the
relationship between the zeroes and the

coefficients.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ts2KT4aPcj2Y
https://dl.doubtnut.com/l/_Cm9Ze7W5W2EG

51. Find the zeroes of the polynomial z* — 3
and verify the relationship between the zeroes

and the coefficients.

° Watch Video Solution

52. Find a quadratic polynomial, the sum and
product of whose zeroes are -3 and 2

respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_Cm9Ze7W5W2EG
https://dl.doubtnut.com/l/_26OwjAzbVMqg
https://dl.doubtnut.com/l/_2Yrgw6mmCEwU

53. Find a quadratic polynomial if the zeroes of

it are 2 and S respectively.

° Watch Video Solution

1
54. Verify that 3, — 1, — 3 are the zeroes of
the cubic polynomial
p(z) = 3z* — 5z® — 11z — 3, and then verify

the relationship between the zeroes and the

coefficients.

° Watch Video Solution



https://dl.doubtnut.com/l/_kETsILs2OHSl
https://dl.doubtnut.com/l/_h5C2itpGWyx1

55. Find the zeroes of the following quadratic
polynomials and verify relationship between
the zeroes and the coefficients.

2 — 2r — 8

o Watch Video Solution

56. Find the zeroes of the following quadratic
polynomials and verify relationship between
the zeroes and the coefficients.

4s® — 4s + 1


https://dl.doubtnut.com/l/_h5C2itpGWyx1
https://dl.doubtnut.com/l/_MvhCCzzP7GyG
https://dl.doubtnut.com/l/_0m7cWNvdFWwB

° Watch Video Solution

57. Find the zeroes of the following quadratic
polynomials and verify relationship between
the zeroes and the coefficients.

6x> — 3 — Tx

o Watch Video Solution

58. Find the zeroes of the following quadratic

polynomials and verify relationship between


https://dl.doubtnut.com/l/_0m7cWNvdFWwB
https://dl.doubtnut.com/l/_CPJvKqL0TGEX
https://dl.doubtnut.com/l/_W3UY16YgXvFN

the zeroes and the coefficients.

du? + 8u

° Watch Video Solution

59. Find the zeroes of the following quadratic
polynomials and verify the relationship

between the zeroes and the coefficients.

(v) 2 — 15

o Watch Video Solution



https://dl.doubtnut.com/l/_W3UY16YgXvFN
https://dl.doubtnut.com/l/_z4QYWYCcmou3

60. Find the zeroes of the following quadratic
polynomials and verify relationship between

the zeroes and the coefficients.

322 —z — 4

o Watch Video Solution

61. Find the quadratic polynomial in each case,
with the given numbers as the sum and

product of its zeroes respectively.

| & |


https://dl.doubtnut.com/l/_z4OKlCQtcfEh
https://dl.doubtnut.com/l/_PNL0y82a38q2

| ¥ Watch Video Solution |

62. Find the quadratic polynomial in each case,
with the given numbers as the sum and

product of its zeroes respectively.

1
2. —
\/_7 3

° Watch Video Solution

63. Find the quadratic polynomial in each case,

with the given numbers as the sum and


https://dl.doubtnut.com/l/_PNL0y82a38q2
https://dl.doubtnut.com/l/_ruB8JTPUjPao
https://dl.doubtnut.com/l/_LyhQhiGjZ6Rn

product of its zeroes respectively.

0, /5

° Watch Video Solution

64. Find the quadratic polynomial in each case,
with the given numbers as the sum and
product of its zeroes respectively.

(iv) 1,1

o Watch Video Solution



https://dl.doubtnut.com/l/_LyhQhiGjZ6Rn
https://dl.doubtnut.com/l/_xLBokcBPKt7g

65. Find the quadratic polynomial in each case,
with the given numbers as the sum and

product of its zeroes respectively.

4’4

o Watch Video Solution

66. Find the quadratic polynomial in each case,
with the given numbers as the sum and
product of its zeroes respectively.

4]

| & I


https://dl.doubtnut.com/l/_pxLOaIhTa6S5
https://dl.doubtnut.com/l/_PSbCeeU8sgaW

| ¥ Watch Video Solution |

67. Find the quadratic polynomial, for the
zeroes a, (B given in each case.

2, — 1

o Watch Video Solution

68. Find the quadratic polynomial, for the

zeroes a, (B given in each case.

V-3

o Watch Video Solution



https://dl.doubtnut.com/l/_PSbCeeU8sgaW
https://dl.doubtnut.com/l/_QMT5VKhrY4IV
https://dl.doubtnut.com/l/_7OxM9CqmbDyP

69. Find the quadratic polynomial, for the

zeroes a, (B given in each case.

1

—, -1
47

o Watch Video Solution

70. Find the quadratic polynomial, for the

zeroes a, (B given in each case.

1 3
27 2

o Watch Video Solution



https://dl.doubtnut.com/l/_7OxM9CqmbDyP
https://dl.doubtnut.com/l/_tH1Il98HUsq5
https://dl.doubtnut.com/l/_Fjg0hvLpAfSY

71. Verify that 1, — 1 and + 3 are the zeroes of
the cubic polynomial z*> — 3z®> — z + 3 and
check the relationship between zeroes and the

coefficients.

° Watch Video Solution

72.Divide 2z* + 3z + 1byx + 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_Fjg0hvLpAfSY
https://dl.doubtnut.com/l/_sGgQiAbfIWlX
https://dl.doubtnut.com/l/_KTCUb6hH4nqK
https://dl.doubtnut.com/l/_uTVGjI8GOvgF

73.Divide 3z® + z® + 2z + 5by 1 + 22 + 2.

° Watch Video Solution

74. Divide 32”> —2° — 3z +5 by 2 — 1 — 22,

and verify the division algorithm.

o Watch Video Solution

75. Find all the zeroes of
2¢* — 3z — 32? + 6z — 2, if you know that

two of its zeroes are /2 and — /2.


https://dl.doubtnut.com/l/_uTVGjI8GOvgF
https://dl.doubtnut.com/l/_pA2b2gcoFsGr
https://dl.doubtnut.com/l/_HaQQHX7FPGGR

° Watch Video Solution

76. Divide the polynomial p(x) by the
polynomial g(x) and find the quotient and
reminder in each of the following.

(i) p(z) = z° — 3z° + 5z — 3, g(z) = z° — 2

o Watch Video Solution

77. Divide the polynomial p(x) by the

polynomial g(x) and find the quotient and


https://dl.doubtnut.com/l/_HaQQHX7FPGGR
https://dl.doubtnut.com/l/_mKIIDiqJlmtz
https://dl.doubtnut.com/l/_alxMYBLQuPHi

reminder in each of the following.
(ii)

p(z) =z* -3z +4x+5,9(z) =2*+1-=z

o Watch Video Solution

78. Divide the polynomial p(x) by the
polynomial g(x) and find the quotient and
reminder in each of the following.

(i) p(z) = = — 32% + 5z — 3, g(x) = z* — 2

° Watch Video Solution



https://dl.doubtnut.com/l/_alxMYBLQuPHi
https://dl.doubtnut.com/l/_Pw437vTEAwWw
https://dl.doubtnut.com/l/_tt2IE5b7mSEA

79. Check in which case the first polynomial is a
factor of the second polynomial by dividing
the second polynomial by the first polynomial :

t2 — 3, 2t4 + 383 — 2t — 9¢ — 12

° Watch Video Solution

80. Check in which case the first polynomial is
a factor of the second polynomial by dividing
the second polynomial by the first polynomial :

a:2—i—3:1:+1,3:134+5:1:3—7:c2+2:c—|—2

l ° Watch Video Solution


https://dl.doubtnut.com/l/_tt2IE5b7mSEA
https://dl.doubtnut.com/l/_4J4QeJ3uoXII

81. Check in which case the first polynomial is a
factor of the second polynomial by dividing
the second polynomial by the first polynomial :

25— 3z +1,2° —42° + 2> + 3z + 1

° Watch Video Solution

82. Obtain all other zeroes of

3z + 62 — 222 — 10z — 5, if two of its

5 . \/3
Zeroes are — anda — —.
V3 3



https://dl.doubtnut.com/l/_4J4QeJ3uoXII
https://dl.doubtnut.com/l/_Nkzcv3w1cr9h
https://dl.doubtnut.com/l/_gtuQe3GnFh34

\ ° Watch Video Solution

8. on dividing z°> —3z*+ 2z +2 by a
polynomial g(x) the quotient and remainder

were x — 2 and —2x + 4, respectively. Find

g(z).

o Watch Video Solution

84. Give example of polynomials p(x), g(x), q(x)

and r(x), which satisfy the division algorithm


https://dl.doubtnut.com/l/_gtuQe3GnFh34
https://dl.doubtnut.com/l/_avGuB5DKYoZG
https://dl.doubtnut.com/l/_DG5NXvA28YXm

and

(i) deg p(x) = deg q(x).

° Watch Video Solution

85. Give example of polynomials p(x), g(x), q(x)
and r(x), which satisfy the division algorithm

and

(i) deg p(x) = deg q(x).

o Watch Video Solution



https://dl.doubtnut.com/l/_DG5NXvA28YXm
https://dl.doubtnut.com/l/_VQhKXGcDzGJF

86. Give example of polynomials p(x), g(x), q(x)
and r(x), which satisfy the division algorithm
and

(iii) deg r(x) = 0.

o Watch Video Solution

87. Verify that the numbers given along side
the cubic polynomials below are their zeroes.

Also verify the relationship between the


https://dl.doubtnut.com/l/_23lw5XyoGfiW
https://dl.doubtnut.com/l/_Y8FwyDsYTEbn

zeroes and the coefficients in each case.

1
(n%?+ﬁ—5x+z(aﬁ,—a

° Watch Video Solution

88. Verify that the numbers given along side
the cubic polynomials below are their zeroes.
Also verify the relationship between the

zeroes and the coefficients in each case.

1
(nn?+ﬁ—5m+z(iﬂ,—a

o Watch Video Solution



https://dl.doubtnut.com/l/_Y8FwyDsYTEbn
https://dl.doubtnut.com/l/_7s7sdKbhWSMu
https://dl.doubtnut.com/l/_T9MeOHIfMHDq

89. Find a cubic polynomial with the sum, sum
of the product of its zeroes taken two at a
time, and the product of its zeroes as 2, -7, -14

respectively.

° Watch Video Solution

90. It the zeroes of the polynomial
2> —3z°+xz+1 are a—b,a,a+b find a

and b.

° Watch Video Solution



https://dl.doubtnut.com/l/_T9MeOHIfMHDq
https://dl.doubtnut.com/l/_xF75s2JqnPnX

91. If two zeroes of the polynomial
' — 62> — 262> + 138z — 35 are 24+ ./3,

find the other zeroes.

° Watch Video Solution

92. If the polynomial
x? — 62 — 162> + 252 + 10 is divided by
another  polynomial z* — 2z + k, the

remainder comes out to be x + a, find k and a.

o Watch Video Solution



https://dl.doubtnut.com/l/_xF75s2JqnPnX
https://dl.doubtnut.com/l/_4y7RVHLofPtb
https://dl.doubtnut.com/l/_OG0zHSKUoHA7

:c5—|—:134—|—:c3+ar:2

93. Find the quotient
3+ 22 +xz+1

When z # 1.

° Watch Video Solution

94. We can write a trinomial having degree 7,
Justify the given statement by giving one

example.

° Watch Video Solution



https://dl.doubtnut.com/l/_OG0zHSKUoHA7
https://dl.doubtnut.com/l/_sMa8xS0OdyRe
https://dl.doubtnut.com/l/_0i3ozk7HBzcl
https://dl.doubtnut.com/l/_SNrp2itigjp3

95. For what value of k, -4 is a zero of the

polynomial 2% — = — (2k + 2).

o Watch Video Solution

96. Write an example for a quadratic

polynomial which has no zeroes.

° Watch Video Solution



https://dl.doubtnut.com/l/_SNrp2itigjp3
https://dl.doubtnut.com/l/_4xgmlB5aml9j

97. If p(z)=2>—-32>+2x -3 is a

polynomial, then find the value of p(1).

° Watch Video Solution

98. Srikar says that the order of the polynomial
(a:2 — 5) (:c3 + 1) Is 6. do you agree with him

? How?

° Watch Video Solution



https://dl.doubtnut.com/l/_pi78ZCSaDT2t
https://dl.doubtnut.com/l/_g7CYaEjOUgRY

99. Find the zeroes of the polynomial

p(z) = 2> — 4.

o Watch Video Solution

100. Verify the relation between zeroes and
coefficients of the Quadratic polynomial

z? — 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_j3x0eB6o3OR6
https://dl.doubtnut.com/l/_wEVxJ0IL2Knw

101. If P(x)=z* + 1, then find P(2)-P(-2).

o Watch Video Solution

102. Verify whether 2 and 1 are zeros of the

polynomial z? — 3z + 2 or not ?

° Watch Video Solution

103. -3, O and 2 are the zeroes of the

polynomial p(z) = z° + (a — 1)z + bz + ¢,


https://dl.doubtnut.com/l/_sAI08XTUCGSd
https://dl.doubtnut.com/l/_SIT3iEtQcSnw
https://dl.doubtnut.com/l/_ylsoJhqP3k7y

find a and c.

o Watch Video Solution

104. Write any two linear polynomials having

onhe term and three terms.

° Watch Video Solution

105. If we multiply or divide both sides of a

linear equation by a zero number, then the


https://dl.doubtnut.com/l/_ylsoJhqP3k7y
https://dl.doubtnut.com/l/_nf1LqckhTvzI
https://dl.doubtnut.com/l/_Olf2un1EMdcQ

roots of linear equation will remain the same.

Is it true? If so justify with an example.

° Watch Video Solution

106. The length of a rectangle is 5 more than
its breadth, so express its perimeter in the

form of polynomial.

° Watch Video Solution



https://dl.doubtnut.com/l/_Olf2un1EMdcQ
https://dl.doubtnut.com/l/_CZcCMvHJ8XIS

1
107. Show that 2 and — 3 are zeroes of the

polynomial 32% — 5z — 2.

o Watch Video Solution

108. Which of /2 and 2 is a zero of the

polynomial p(z) = z* — 22?7 Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_tkx1oJZphUP5
https://dl.doubtnut.com/l/_JV7XZH4Xhpe8

109. Divide 2° — 3z® 4+ 5z — 3 by 2> — 2 and

verify the divison lemma.

° Watch Video Solution

110. 2% — 422 + 5z — 2 & x-2 B 2A0N06.

° Watch Video Solution

11. If one of the zeroes of the quadratic

polynomial az? + bz + ¢ is 0, then the other


https://dl.doubtnut.com/l/_1CkziAQooBAa
https://dl.doubtnut.com/l/_YKu8Pi4iXzYl
https://dl.doubtnut.com/l/_xxmUpqPqE5pc

Zero is

o Watch Video Solution

112. Laxmi does not want to disclose the |, b,h
of a cuboid of her project. She has constructed
a polynomial z* — 6x® + 11z — 6 by taking
the value of I, b, h as its zeroes. Can you open

the secret?

o Watch Video Solution



https://dl.doubtnut.com/l/_xxmUpqPqE5pc
https://dl.doubtnut.com/l/_KHG135pbQfmm

13. Draw a graph for the polynomial
p(z) = 2® + 3z — 4 and find its zeros from

the graph.

o Watch Video Solution

14. Draw the graph of the polynomial
p(z) = 3z + 2z — 1 on the graph paper.

Find its zeroes from the graph.

o Watch Video Solution



https://dl.doubtnut.com/l/_DmlblrDQWeiu
https://dl.doubtnut.com/l/_wlE8CZor0hiC
https://dl.doubtnut.com/l/_C8VHxp2aDHUH

5. Draw the graph of polynomial
p(z) = z* — 3z + 2 and find the zeros from

the graph.

o Watch Video Solution

16. Draw the graph of the polynomial
p(z) = z* — 5z + 4 on the graph paper. Find

its zeroes from the graph.

o Watch Video Solution



https://dl.doubtnut.com/l/_C8VHxp2aDHUH
https://dl.doubtnut.com/l/_0ua1CLp0yfWI
https://dl.doubtnut.com/l/_joRG8NGeCEfh

117. On dividing 2° — 32> — 7 by 2 — 2z + 4,
if the remainder is in the form of Az + B, find

the values of A and B.

o Watch Video Solution

118. Divide 3z —5z° +4z®> +3z—5 by

2> — 3 and verify the division algorithm.

° Watch Video Solution



https://dl.doubtnut.com/l/_joRG8NGeCEfh
https://dl.doubtnut.com/l/_XyW33z363xQj

119. Total number of pencils required are given
by 4z + 223 — 2% + 62z — 66. If each box
contains z* + 2z — 3 pencils, then find the

number of boxes to be purchesed.

° Watch Video Solution

120. Draw the graph of polynomial
p(z) = z* — 3z + 2 and find the zeros from

the graph.

° Watch Video Solution



https://dl.doubtnut.com/l/_imKpn0t0Pj4z
https://dl.doubtnut.com/l/_0MfVwNTgaOT4

121. Draw the graph of the polynomial
p(x) = 2> — 5z + 4 on the graph paper. Find

its zeroes from the graph.

o Watch Video Solution

122. Find p(3) if p(z) =x* — 5z +6 is

given.

o Watch Video Solution



https://dl.doubtnut.com/l/_0MfVwNTgaOT4
https://dl.doubtnut.com/l/_4Rud2mtrD6sC
https://dl.doubtnut.com/l/_a4ZgFBXPN3Ph
https://dl.doubtnut.com/l/_PSFzu3v3q9e1

123. Find the zeroes of 22 + 8z -+ 15.

o Watch Video Solution

124. How do you say that the maximum

number of zeroes of 2 + 8z + 15is 2 ?

° Watch Video Solution

125. Find the zeroes of 2 + 8z -+ 15.

° Watch Video Solution



https://dl.doubtnut.com/l/_PSFzu3v3q9e1
https://dl.doubtnut.com/l/_fELxPSPUOLBc
https://dl.doubtnut.com/l/_yul2vVMGcEK9

126. Check whether '6' becomes a zero of

z? + 8 -+ 15 or not? Give reasons.

° Watch Video Solution

127. 8 times of a number is added to its square
give a result -15. then find the number by using

its quadratic equation.

° Watch Video Solution



https://dl.doubtnut.com/l/_pzs35217GevZ
https://dl.doubtnut.com/l/_VxVIgyB376Fa

128. In how many points will the graph of

z? + 8z + 15 intersect X - axis? Why?

o Watch Video Solution

129. Express the polynomial z? + 8z + 15 in

view of variable'y'.

o Watch Video Solution



https://dl.doubtnut.com/l/_dZ728NC38Izq
https://dl.doubtnut.com/l/_cZfMt6qg2IBJ

130. State the relation between coefficient of

polynomial and zeroes of it.

o Watch Video Solution

131. Find p(3) if p(x) =2 — 5z +6 is

given.

o Watch Video Solution



https://dl.doubtnut.com/l/_n5NMaLdcVqXD
https://dl.doubtnut.com/l/_b36dEjOD8gH3

132. The quadratic polynomial having 2, 3, as

Zeroes iS ........

A z?> — 5z —6

B.z2 + 5z + 6

Czl—5x+6

D.z2 + 5z — 6

° Watch Video Solution



https://dl.doubtnut.com/l/_rI5gGa3O1r9I

133. Which of the following has only one zero?

Ap(z) = 2z® — 3z + 4
B.p(x) = 2* — 2z + 1
C.p(x) =2z + 3

D.p(z) =5

o Watch Video Solution



https://dl.doubtnut.com/l/_eLvWDMeLpKB4

134. Observe the given rectangular figure, then

its area in polynomial function is ...

u
L}

_10-){

H
X+3

A A(z) = z° + Tz + 30
B.A(z) = —2° + Tz + 30
C.A(x) =2 — Tz + 30

D.A(z) = — z® — Tz + 30


https://dl.doubtnut.com/l/_tvYNmuvYn34a

o Watch Video Solution

135. The following is the graph of a polynomial.
Find the zeroes of the polynomial from the

given graph.



https://dl.doubtnut.com/l/_tvYNmuvYn34a
https://dl.doubtnut.com/l/_0PPVDsLsUgSw

° Watch Video Solution

136. The coefficient of &’ in the polynomial

72l — 172 4+ 2725 — TS e,


https://dl.doubtnut.com/l/_0PPVDsLsUgSw
https://dl.doubtnut.com/l/_Qkx1sHLJb2Sl

B.0

C.7

D. 17

° Watch Video Solution

137. The quadratic polynomial

1 d 1 " .
g and 5 as its zeroes, is.

br + 1

A. x>
r° + 6

B. —6x° — 5z + 1

having


https://dl.doubtnut.com/l/_Qkx1sHLJb2Sl
https://dl.doubtnut.com/l/_ncoqTZDoXrDO

She — 1

C.:L‘z —

D.6z2 — 5z — 1

o Watch Video Solution

138. Sum of zeroes of a polynomial

> — 222 + 3z — 4is

B. 2

C.1



https://dl.doubtnut.com/l/_ncoqTZDoXrDO
https://dl.doubtnut.com/l/_TRtMbgBGGZoh

D. 4

° Watch Video Solution

139. The value of x, which satisfies
2 —1) —(1—z) =2z + 3
A. 2
B.4
C.6

D.8


https://dl.doubtnut.com/l/_TRtMbgBGGZoh
https://dl.doubtnut.com/l/_JkAL47CtZqTL

o Watch Video Solution

140. If the polynomial
p(r) =2 —2* +3x +k is divided by
(z — 1), the remainder obtained is 3, then the
value of k is

A.O

B.1

C.3


https://dl.doubtnut.com/l/_JkAL47CtZqTL
https://dl.doubtnut.com/l/_zCKGNd9gSk2E

° Watch Video Solution

141.In a division, if divisor is x+1, quotient is x
and remainder is 4, then dividend is

A z° +x

B.4(x +1) +x

Cx(x+1)+4

D.4x + 4


https://dl.doubtnut.com/l/_zCKGNd9gSk2E
https://dl.doubtnut.com/l/_S86rZ3osKBs1

o Watch Video Solution

142. If o, B are the zeroes of the polynomial
z? — ¢ — 6then a?B%= ...

A. 6

B.9

C.5

D. 4



https://dl.doubtnut.com/l/_S86rZ3osKBs1
https://dl.doubtnut.com/l/_FAIyhONAAO3d

I o Watch Video Solution

143. Let p(z) = x* — 4z + 3. Find the value of

p(1) and obtain zeroes of the polynomial p(x).

B.O
C.1

D. 2

o Watch Video Solution



https://dl.doubtnut.com/l/_FAIyhONAAO3d
https://dl.doubtnut.com/l/_eZKjvdeZr39s

144. If the polynomial
p(x) =z* —22° + 2> —1 is divided by
(x + 1), then the degree of quotient
polynomial.

A1l

B.3

C.4

D. 2

I o Watch Video Solution


https://dl.doubtnut.com/l/_eZKjvdeZr39s
https://dl.doubtnut.com/l/_Rk5hfBH9BtNC

145. A quadratic polynomial whose zeroes are

5and -2is
A z? + bz — 2
B.z2 4+ 3z — 10

C.z? — 3z — 10

D.z2 — 2z + 5

° Watch Video Solution



https://dl.doubtnut.com/l/_Rk5hfBH9BtNC
https://dl.doubtnut.com/l/_isxsa8jDAaKp
https://dl.doubtnut.com/l/_GQ9FFsYdzKXt

146. If \/3 and —./3 are the zeroes of a
polynominal p(x), then p(x) is

Az?—9

B.3z% — 1

Cz?+3

D.z2 — 3

o Watch Video Solution



https://dl.doubtnut.com/l/_GQ9FFsYdzKXt

147. The quadratic polynomial whose zeroes

are y/15and — /15 is

Az?—15

B.z2 — 225
C.15z% — 1
D.z* — /15

° Watch Video Solution



https://dl.doubtnut.com/l/_TnldjtA9NoNb

148. If one zero of the quadratic polynomial

222 + kx — 15 is 3, then the other zero is

A—15
S22

B. k

° Watch Video Solution



https://dl.doubtnut.com/l/_WvG6BHJlhpMR

149. The maximum number of zeroes that a

polynomial of degree 3 can have is

A. Three

B. One

C. Two

D. None

° Watch Video Solution



https://dl.doubtnut.com/l/_6HyGlRtA4IiD

150. The product and sum of the zeroes of the
quadratic polynomial az’ + bz + ¢

respectively are

C
A —,1
b
b ¢
B.— —, —
a’ a
c b
C.—, =
a’ a
C b
D.—, — —
a a

o Watch Video Solution



https://dl.doubtnut.com/l/_OsFuuFecp9PT
https://dl.doubtnut.com/l/_fjYXY2oVQBQO

151. The zeroes of the

p(x) = 42* — 12z + 9 are

A 3
-2 2

B.-3,-4

polynomial

° Watch Video Solution



https://dl.doubtnut.com/l/_fjYXY2oVQBQO

152. If a and 3 are zeroes of the polynomial
p(z) = 2 — 5z + 6, then the value of
a+ B —3afis

A.-13

B.6

C.13

o Watch Video Solution



https://dl.doubtnut.com/l/_J6dmbhvoLZAP
https://dl.doubtnut.com/l/_Gm7eb7JAqAOX

153. The graph of the polynomial
f(x) =2x —5 is a straight line which

intersects the X - axis at exactly one point

namely.
Ao -3
I 2
5. | 2 _E]
| 2’ 2
| 5.9]
| 2
o[~ 3.0
2

o Watch Video Solution



https://dl.doubtnut.com/l/_Gm7eb7JAqAOX

154.1f 1 is the zero of the quadratic polynomial

2 + kx — 5, then the value of k is

A.O

B.5

D.4

° Watch Video Solution



https://dl.doubtnut.com/l/_OQc0gcgjuQXM

155. If both the zeroes of a quadratic
polynomial az® + bz +c¢ are equal and

opposite in sign, then b is

B.5
C.1

D.O

o Watch Video Solution



https://dl.doubtnut.com/l/_FM5NF3tkoStJ
https://dl.doubtnut.com/l/_a6zR4UXDOq02

156. Sum and product of the zeroes of
polynomial  — 3 are respectively.

A.0,3

B.0O,-3

C.-3,0

D. 3,0

o Watch Video Solution



https://dl.doubtnut.com/l/_a6zR4UXDOq02

157. If the zeroes of quadratic polynomial are

equal in magnitude but opposite in sign, then

A. Product of its zeros is O

B. Sum of its zeroes is O

C. there are no zeros of the polynomial

D. One of the zero is zero

o Watch Video Solution



https://dl.doubtnut.com/l/_xetTppetnLqG

158. If one of the zeroes of the quadratic

polynomial az? + bz + ¢ is 0, then the other

Zero is

b
A —
a

o Watch Video Solution



https://dl.doubtnut.com/l/_P2yNDWL7SHma
https://dl.doubtnut.com/l/_p8ax1lZYKatP

159. The polynomial whose zero are -5 and 4 is

A.a:2+:1:—20

B.z2 + 5z — 4

C.z? — 9z — 20

D.z2 — 5z + 4

o Watch Video Solution



https://dl.doubtnut.com/l/_p8ax1lZYKatP

160. If -1 is a zero of the polynomial

f(z) = 2> — 7Tz — 8,then the other zero is

A.8

C.1

D.6

o Watch Video Solution



https://dl.doubtnut.com/l/_9jOPmpQoZ03V

161. If one zero of the quadratic polynomial

2 — 5z — 6is 6, then the other zero is

Al

° Watch Video Solution



https://dl.doubtnut.com/l/_hwhVdVizEo5a

162. If o and B are the zeros of the polynomial

f(z) =z* +pr +q , then a polynomial

1 1

having — and — as its zeros is ...
o

A.qx2+pa:—|—1
B.qa:2+p:c+10
C.pz’> +qr +1

D. None

° Watch Video Solution



https://dl.doubtnut.com/l/_0H23Nb95Ia2m
https://dl.doubtnut.com/l/_cBhS2LWcRLQS

163. If the roots az? + bz - ¢ = 0 are both

negative and b < 0, then

A.C=0

B.c<9

C.c<O

D.C >0

o Watch Video Solution



https://dl.doubtnut.com/l/_cBhS2LWcRLQS

164. If a, B3, v are the zeros of the polynomial

f(z) = az® + bx® + cx + d then

° Watch Video Solution



https://dl.doubtnut.com/l/_6MJqcU83Bda6
https://dl.doubtnut.com/l/_mz9O4uldd24m

165. If the product of the zeros of the

polynomial f(x)= az® — 6z° + 11z — 6 is 4,

o Watch Video Solution



https://dl.doubtnut.com/l/_mz9O4uldd24m
https://dl.doubtnut.com/l/_mLO4UpCq6ZO2

166. If o, B are the zeros of the polynomial

1 1
f(z) = ax® + bz +c then a2+ﬂ2 =

A7

B.9

C.1

o Watch Video Solution



https://dl.doubtnut.com/l/_mLO4UpCq6ZO2

167. If one zero of the polynomial
f(z) = bx* 4+ 13z + k is reciprocal of the

other, then the value of k=...........

A5

C.1

D. None

o Watch Video Solution



https://dl.doubtnut.com/l/_x9PounhmdutE
https://dl.doubtnut.com/l/_Lc5oypUiOKfl

168. If «a, 3 are the zeros of polynomial

fz) =2 —p(z+1) — ¢ then

B. 1+cC
C.1-c

D.C

o Watch Video Solution



https://dl.doubtnut.com/l/_Lc5oypUiOKfl
https://dl.doubtnut.com/l/_Gxcaovgmb869

169. If the sum of the zeros of the polynomial

f(z) = 2z° — 3kz® 442 — 5 is 6 then k =

B.9
C.0

D.4

o Watch Video Solution



https://dl.doubtnut.com/l/_Gxcaovgmb869

170. If a, B, v are the zeros of the polynomial

f(z) = az® + bx® + cx + d

then

o Watch Video Solution



https://dl.doubtnut.com/l/_WUQDSfMelicb
https://dl.doubtnut.com/l/_kh4eBEkEyZpE

171. If the polynomial f(z) = az® + bz — c is
divisible by the polynomial

g(z) = 2> 4+ bx + cthenab = ...

Al

B.7

D.O

o Watch Video Solution



https://dl.doubtnut.com/l/_kh4eBEkEyZpE
https://dl.doubtnut.com/l/_OFvH4Tcj01FF

172. The product of the zeros of

23 4+ 422 + 2 — 6iS w.

A.8

B.7

C.6

° Watch Video Solution



https://dl.doubtnut.com/l/_OFvH4Tcj01FF

173. A quadratic polynomial , the sum of whose

zeroes of 0 and one zero is 3 IS ...

Az +3
B. x-3

C.z? -9
D.z> —3

° Watch Video Solution



https://dl.doubtnut.com/l/_BaX1lWOiWatV

174. If /5 and —./b are two zeros of the
polynomial z* + 3z* — 52 — 15 then its third

Zero IS v

A7

B.3

D. None

o Watch Video Solution



https://dl.doubtnut.com/l/_Hp5VyY1GPTzt
https://dl.doubtnut.com/l/_o50AVyjQAfJr

175. If a, B, v are the zeros of the polynomial

3 5 1 1 1
x> —px®+qr—r then — 4+ — 4 — =
af By o

° Watch Video Solution



https://dl.doubtnut.com/l/_o50AVyjQAfJr
https://dl.doubtnut.com/l/_O0stTQrMlEMu

176. If = + 2 is a factor of 2> + ax + 2b and

a+b=4thena-=.......

A.3

B.2

D.4

o Watch Video Solution



https://dl.doubtnut.com/l/_O0stTQrMlEMu

In the below figure x = ....,... |
A)1
B)-7
C)3

A9

B.O

D. 1

‘ o WMiabk Al V20 dac CAli ikl am


https://dl.doubtnut.com/l/_ayWQuFWakZK4

— ¥VdUL(Ill VIUCU JDVIULIVII )

178. If one zero of the polynomial
f(z) = (K* + 4)z” + 13z + 4k is reciprocal

of the other then k=...........

B.2
C.9

D. 1

o Watch Video Solution



https://dl.doubtnut.com/l/_ayWQuFWakZK4
https://dl.doubtnut.com/l/_5GeD5glcxCeM

179. If two zeros of 3 + z? — 5z — 5 are Vb

and —+/5 then its third zero is ...

D. None

o Watch Video Solution



https://dl.doubtnut.com/l/_5GeD5glcxCeM
https://dl.doubtnut.com/l/_LcZAf38EqMTr
https://dl.doubtnut.com/l/_CrmgkttVrHsb

180. If zeros of polynomial

f(a:O = 2% — 3pz® + gz — r are in AP then

° Watch Video Solution



https://dl.doubtnut.com/l/_CrmgkttVrHsb
https://dl.doubtnut.com/l/_xbpDLSD1nog2

181. If a, B are the zeros of the polynomial

1 1
f(z) = ax® + bx +c then a2+52 =

o Watch Video Solution



https://dl.doubtnut.com/l/_xbpDLSD1nog2

182. What should be subtracted from the
polynomial z* — 16z + 30 so that 15 is the

zero of the resulting polynomial?

A.15

C.-15

D. None

o Watch Video Solution



https://dl.doubtnut.com/l/_8es8vLJHjGdC
https://dl.doubtnut.com/l/_3ofx7SLACoad

183.ax + b represents ... polynomial.

A. Quadratic

B. Cubic

C. Linear

D. None

o Watch Video Solution

184.ax” 4+ bz + CiS @ wovreen polynomial.


https://dl.doubtnut.com/l/_3ofx7SLACoad
https://dl.doubtnut.com/l/_loxrIW6290bY

A. Quadratic

B. Linear

C. Cubic

D. Fourth

° Watch Video Solution

185. Which of the following is a cubic

polynomial in general form?

Abz? +cz+x+1


https://dl.doubtnut.com/l/_loxrIW6290bY
https://dl.doubtnut.com/l/_kQjuP6oI5ddg

B. ‘ax"3+bx"2+CX+d

C.x?+ 28

D. None

° Watch Video Solution

186. The degree of the polynomial

az® + bz +cx® +dx +eis ..

A5

B.4


https://dl.doubtnut.com/l/_kQjuP6oI5ddg
https://dl.doubtnut.com/l/_hxlsQIHcIdl3

C.6

D.O

o Watch Video Solution

187.

apx” + a1z L+ a4+ L.

polynomial of degree ..............

Al

B.n-2


https://dl.doubtnut.com/l/_hxlsQIHcIdl3
https://dl.doubtnut.com/l/_nw3UNfEfuSWp

o Watch Video Solution

188. If a, B3, v are roots of a cubic polynomial


https://dl.doubtnut.com/l/_nw3UNfEfuSWp
https://dl.doubtnut.com/l/_F8APuEXJzIAt

D. None

° Watch Video Solution

189. If o, B, v are roots of a cubic polynomial

then af + By + ya = ...

N @
S QN

o
o~ ole


https://dl.doubtnut.com/l/_F8APuEXJzIAt
https://dl.doubtnut.com/l/_VW3RU2EFtuH8

o Watch Video Solution

190. If o, B, v are roots of a cubic polynomial

then afB + By + Y& = .

Qe 2o

|
o | L

D. None



https://dl.doubtnut.com/l/_VW3RU2EFtuH8
https://dl.doubtnut.com/l/_4SyugTz4Y0Sh

I o Watch Video Solution

o Watch Video Solution



https://dl.doubtnut.com/l/_4SyugTz4Y0Sh
https://dl.doubtnut.com/l/_h8GFfIyjKHjo
https://dl.doubtnut.com/l/_0aaoFviEy3xu

C.1

D.O

o Watch Video Solution



https://dl.doubtnut.com/l/_0aaoFviEy3xu

193. p(x) = z2 + 5z + 6 then zeros of p(x) =
A.-2,-3
B. 3,-2
C. 4]

D.1,8

° Watch Video Solution



https://dl.doubtnut.com/l/_jslFOIzQgNfX

1
194.p(z) = 4z + 3z — 1then p(Z) = e

Al

B.O

D. 12

° Watch Video Solution



https://dl.doubtnut.com/l/_UDTv4PQiwb4Y

195. 2% 4+ 72 + 10 25008 W03, TIP
30e90

A (z + 3)°

B. (z + 2)°

C. (x-2)(x-3)

D. (X+2)(x+5)

o Watch Video Solution



https://dl.doubtnut.com/l/_qPFkFk8lQAqv

196. p(z) = x° + 42> + 5z — 2 then p(1) =
A.8
B.7
C.3

D. None

° Watch Video Solution



https://dl.doubtnut.com/l/_fDMdBsS5QsjH

197. p(z) = 32> — 22> + 62 — 5 then p(2) =
A.19
B.10
C.12

D. 23

° Watch Video Solution



https://dl.doubtnut.com/l/_bNZamwxjzOst

198. If m and n zeros of the polynomial

322 4+ 11z — 4 then the value of m — .
n m

D. None

o Watch Video Solution



https://dl.doubtnut.com/l/_lVGRMZCLzYbX
https://dl.doubtnut.com/l/_xrVSV70Uxm6U

199. Sum of the zeros of z2 + 7z + 10 is

C. 4

D. None

° Watch Video Solution



https://dl.doubtnut.com/l/_xrVSV70Uxm6U

200. The quadratic polynomial, whose sum and

product of zeros are 1 and -2 respectively is

A.a:2+m—|—2

B.z’ —x — 2

C.z’+3z—1

D.z2 — 3z — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_Yj0MhwimoRDU
https://dl.doubtnut.com/l/_031bQfzzxZme

201.If p and q are the zeros of the polynomial

2 — 4t + 3 then

C.2

D.3

o Watch Video Solution



https://dl.doubtnut.com/l/_031bQfzzxZme
https://dl.doubtnut.com/l/_wex8QeMw9v3c

202. A polynomial of degree 3 is called ...

Polynomial.

A.Zero

B. Order

C. Quadratic

D. Cubic

° Watch Video Solution



https://dl.doubtnut.com/l/_wex8QeMw9v3c

203. The quotient when

z* + 2° 4+ 22 — 2z — 3is divided by z* — 2is

B. x-2
Cx?+3zx+1

D. None

o Watch Video Solution



https://dl.doubtnut.com/l/_Y2jlDfj2sYFL
https://dl.doubtnut.com/l/_oRJa8ATYJYU0

204. The quotient when

z* + 2° 4+ 22 — 2z — 3is divided by z* — 2is

B.4

C.3

o Watch Video Solution



https://dl.doubtnut.com/l/_oRJa8ATYJYU0
https://dl.doubtnut.com/l/_Scp6P38J0sYC

205. One zero of the polynomial
1
2¢° + 3z + kisE then k = ...
A4

B.1

C.2

° Watch Video Solution



https://dl.doubtnut.com/l/_Scp6P38J0sYC

206. One zero of the polynomial

1
222 + 3z + kz’sa then k=.................

B.2
C.3

D.4

o Watch Video Solution



https://dl.doubtnut.com/l/_p52iqAyYqeit

207.Sum of the zeros of 62 = 1S v,

A3

B.2

C.0

o Watch Video Solution



https://dl.doubtnut.com/l/_QLZj6KnWeVBO

208. What must be subtracted or added to
p(z) = 8z* + 142> — 22% 4 8z — 12 so that
4z? + 3z — 2is a factor of p(x)?

A. 5x-3

B. 15x-1

C. 5x-2

D. 15x-14

o Watch Video Solution



https://dl.doubtnut.com/l/_I6Fl06TzrHJh
https://dl.doubtnut.com/l/_Z53zQEqCbssx

209. The quadratic polynomial whose zeroes
ared + \/5and 4 — /5 is .

A z? — 8z + 11

B.z* — 11z + 1

C.z° + 8z + 3

D. None

° Watch Video Solution



https://dl.doubtnut.com/l/_Z53zQEqCbssx

210. If one of the zeros of the quadratic
polynomial  f(z) = 142® — 42k’ — 9 s

negative of the other then k= ................

A3

C.0

D. None

o Watch Video Solution



https://dl.doubtnut.com/l/_QQSkkHyIX2C9
https://dl.doubtnut.com/l/_290epcaU8xSt

211. If one zero of a polynomial
3z — 8z +2k+1=0 is seven times the

other then k=................

W= w|N

C.1

D. None

o Watch Video Solution



https://dl.doubtnut.com/l/_290epcaU8xSt
https://dl.doubtnut.com/l/_fF5aYmSj21ji

212.1f 22 + 3 is a factor of 22° — £ — b + 922

then the value of b is ...............

A3

B.7

C.10

D.-15

° Watch Video Solution



https://dl.doubtnut.com/l/_fF5aYmSj21ji

213. Divide (z° — 6z + 11z —12) by
(:132 —x + 2) then quotient is ............

A. x+5

B. X-5

C. x+1

D. None

o Watch Video Solution



https://dl.doubtnut.com/l/_F7o2oDM2rHYp

214. Divide (z® —6z° + 11z — 12) by
(:132 —x + 2) then quotient is ...
In the above problem the remainder is

A 271

B. X+1

C.4x-2

D. None

o Watch Video Solution



https://dl.doubtnut.com/l/_kGMQ4z6d8ixr
https://dl.doubtnut.com/l/_Sr8h167bCTw0

215.If a and B are the zeros of the polynomial
p(x) = 2z* + 5z + k satishfying the relation

o + 8%+ aBf = = thenk= ...

o Watch Video Solution



https://dl.doubtnut.com/l/_Sr8h167bCTw0
https://dl.doubtnut.com/l/_IahKtwLwFoBV

216.

AT N

A 5

5
B.z2 — —
T T3

3
C.x? — —
T
D.z2 —1

° Watch Video Solution

217. Product of zeros of 322 = 1is .........


https://dl.doubtnut.com/l/_IahKtwLwFoBV
https://dl.doubtnut.com/l/_vYcUgxUYnP58

o Watch Video Solution

218. Degree of '1' is ............

Al


https://dl.doubtnut.com/l/_vYcUgxUYnP58
https://dl.doubtnut.com/l/_W7gyVVCwfUpp

B.3

C.0

D.7

o Watch Video Solution

219. Degree of 5" — 62° + Tz + 1is ...

A4

B.1


https://dl.doubtnut.com/l/_W7gyVVCwfUpp
https://dl.doubtnut.com/l/_vqXHEXZXXqgv

C.7

D.3

o Watch Video Solution

220. (3z — 4)(z + 1)=

A.a:2—3a3—|—1
B.z2 —z + 4

Cx?—3z+7


https://dl.doubtnut.com/l/_vqXHEXZXXqgv
https://dl.doubtnut.com/l/_hjkWlZXG4xVT

D.3z2 —z — 4

° Watch Video Solution

221. (2 — 3z — 28) + (z + 4) = e

A. xX-7
B. X+7
C.x+3

D. X

1


https://dl.doubtnut.com/l/_hjkWlZXG4xVT
https://dl.doubtnut.com/l/_kLMU6NM02Zsn

° Watch Video Solution

222. f(x) = 4z% + 4z — 3 then f(;) -

C.1

D.7

o Watch Video Solution



https://dl.doubtnut.com/l/_kLMU6NM02Zsn
https://dl.doubtnut.com/l/_wz58wJZVBotx

223. In the above problem If reminder is f(x)

B.7
C.9

D.O

o Watch Video Solution



https://dl.doubtnut.com/l/_wz58wJZVBotx
https://dl.doubtnut.com/l/_ShdiTqTeDIwD
https://dl.doubtnut.com/l/_ZQgHeRHuZ449

224. (z + +/5) (z — 34/5)=
A z® —2,/5z + 15
B.z* — 2,/5z — 15
C.z? — 25z + 15

D. None

o Watch Video Solution



https://dl.doubtnut.com/l/_ZQgHeRHuZ449

225.

(—:133+33:2—333+5) +(—:132—|—az—1)=
A. X+2
B. X-2
C. x-1

D. X+3

o Watch Video Solution



https://dl.doubtnut.com/l/_WntWEaTSg0EX
https://dl.doubtnut.com/l/_VTehXKo2ahKU

226. The remainder when 323 + 22 + 2z + 5
is divided by 22 + 2z + 1is ..

A. 9x+10

B. X+10

C. x-1

D. 9x-1

° Watch Video Solution



https://dl.doubtnut.com/l/_VTehXKo2ahKU

227.a = a — b, B = a + b then the quadratic

polynomial is ...

A z3 — a’z + b

B.:I;2 — a3:1: + a2

Cx?—azr+a®+b

D. 'x"*2-2ax+a”2-b"2

o Watch Video Solution



https://dl.doubtnut.com/l/_Ey9zJOLvMqfP

228. If the product of zeros of 9z% 4+ 3z + pis

B.-63
C.63

D.70

o Watch Video Solution



https://dl.doubtnut.com/l/_ogVcNLFVuAoj

229. Degree of (x — 2)(x — 3) iS e

A3
B.2
C.1

D.7

o Watch Video Solution

230.The valueof 2™ — 1 at x=0iS v


https://dl.doubtnut.com/l/_ngot1bghrnK7
https://dl.doubtnut.com/l/_k1lQCEeMHajy

A3

B.9

C.7

o Watch Video Solution

231. Zeros of the polynomial z? — 4z + 3 and

Tand p the p = .ueneeee.

A7


https://dl.doubtnut.com/l/_k1lQCEeMHajy
https://dl.doubtnut.com/l/_Hme7ms4nmCXJ

B.3

C.1

D. None

o Watch Video Solution

232. Degree of a linear polynomial is ................

A2

B.3


https://dl.doubtnut.com/l/_Hme7ms4nmCXJ
https://dl.doubtnut.com/l/_rEXHdfgQZumK

C.7

D. 1

o Watch Video Solution

233.(a + 1)%=

A.a2—|—1
B.a’+2+a

C.a>+ 2 +1


https://dl.doubtnut.com/l/_rEXHdfgQZumK
https://dl.doubtnut.com/l/_JAVBKbaidM3V

D. None

° Watch Video Solution

234. o + B = 0, a8 = /3 then the quadratic
polynomial is ............

Az +1

B.z + /3

C.x-3

D.z* + /3


https://dl.doubtnut.com/l/_JAVBKbaidM3V
https://dl.doubtnut.com/l/_OKn4NeY0oxfP

° Watch Video Solution

235.(:133—8)+:132—|—233—|—4

B. X-1
C.x-2

D. None

° Watch Video Solution



https://dl.doubtnut.com/l/_OKn4NeY0oxfP
https://dl.doubtnut.com/l/_VGlnWH2rP2iO

r+1
l1—=x

236.p(x) = then P(0) = ..........

Al

C.2

D.3

o Watch Video Solution



https://dl.doubtnut.com/l/_VGlnWH2rP2iO
https://dl.doubtnut.com/l/_D3dQ8A0iZiO4

237. (2 — /3) (2 + v/3) = oo

A. x+3
B.z2 — 3
C.x+7

D. None

o Watch Video Solution



https://dl.doubtnut.com/l/_ZNw44hSsZV5W

238. If one zero of the polynomial is /2 — 1
then other zero may be ..............

Al+./3

B.v/2+1

C.v/2—-2

D. All

o Watch Video Solution



https://dl.doubtnut.com/l/_h9dhP4c1zPAW

239. Biogas contains

A5

B.4

C.1

D. 2

o Watch Video Solution

240.p(x) =



https://dl.doubtnut.com/l/_p4d0nIh31ngk
https://dl.doubtnut.com/l/_Ee02oLnmtp7Z

Al

B.12

C.0

D. Not defined

o Watch Video Solution

241.p(z) = 2> —z + k,p(1) = — 1then k =


https://dl.doubtnut.com/l/_Ee02oLnmtp7Z
https://dl.doubtnut.com/l/_G0ivLFQoTZpV

B.1

C.0

D.7

° Watch Video Solution

242.p( — 3) = 0 then p(x) =

A. x-7

B. X+1



https://dl.doubtnut.com/l/_G0ivLFQoTZpV
https://dl.doubtnut.com/l/_ZIF2YJskcSk6

C.x4

D. X+3

o Watch Video Solution

243. Number of constant terms in the
polynomial z* 4 7z — 7is ...

A. 2

B. 1

C.3


https://dl.doubtnut.com/l/_ZIF2YJskcSk6
https://dl.doubtnut.com/l/_9DovnPBYAHd9

D.2

° Watch Video Solution

244. In the product (x +4)(x +2) the

constant termiis ............

A7

C.6

D.8


https://dl.doubtnut.com/l/_9DovnPBYAHd9
https://dl.doubtnut.com/l/_4k7dXB10IOqC

o Watch Video Solution



https://dl.doubtnut.com/l/_4k7dXB10IOqC

